~8

o FET & et AU B e
Write in descending order the following States of the | 5. é%m(ﬁ—q’r F 3;%?; wn d fl ffi‘_”: 1
basis of their population as per Census, 2011 : 5. AT

I. Bihar 5" Andhra Pradesh , femm el
3. Uttar Pradesh 4.  West Bengal 5. IEIT 4. WA )
Choose; the correct answer with the help of the ﬁmﬁﬁﬁgﬁaﬁz ﬁmﬁ AYAT Hﬁmgﬁm‘ ’
followifig codes : 412 ~@®) 1,3,2,4
( ) :;” g’ le’g (b) 1’ 39 294 Ea; ?, 3’ 4’2 i (d) 3, 1, 4’2
C L (d) 3’1’492 ¢ 9. =2 8 : ﬁ
6.  Match List-I with List-Il and choose the correct | ¢ I{fﬂ-l E) !f:ﬁ-ll 3} ﬁﬂﬁﬁaﬁm 3R HH
answer using the codes given below the lists : Hmmwm gﬁ‘E :
List-I List-IT W% e 11
A. Human 1. International . -1 . in ’
2 Development Report ~ Monetary Fund A. e foreera R 1L MWWWW
) B. World Economic 2. United Nations B. fam gTﬁia;gﬁaﬁ'UT 2 E’ﬁ?ﬁwm
Outlook Environment ’ e ; Ugﬁﬁ;‘mm
Programme c. fafaw 3. 4g® -
Yy C. World Investment 3. United Nations D. IcdsiH A=< 4. AR ) forera I EER
Report Development g g
D, Emissions G J Programme T
. Emissions Gap . United Nations a” c =
Report Conference on Trade A B C D g&a
and Development @ 3 1 4 2, B
Codes : ®) 3 4 1 2
& A B C D © 1 <2 3P4
a) 3 ‘11 4 2 !;gg% @ 2 3 4;-.1 .
2‘3 O ; i C 7. frefife semel v fEr AR @ 7w
@ 2 3 4 1 Wﬂmmmmawm
Consider the following events and arrange them in fafaferaes
correct chronological order starting from the earliest 1 Wmm
to the last activity : ’
_ 1. Pradhan Mantri Gramodaya Yojana 2. TR ASTIR G rdsRn
‘__/(,&,2. Rural Employment Generation Programme 3. AT AT QST
3. Prime Minister Rozgar Yojana 4 TR ST ST AT
4. Valmiki Ambedkar Awas Yojana ’ i
Select the correct answer from the codes given ﬁ%mm?ﬁ@m‘aﬁwaﬁqv :
below : 3 (@ 2,3,4,1 b)) 4,2,1,3
@ 2,3,4,1 £y 4,21, 0 1,2,3,4
© 1,2,3,4 @ 3,2,1,4 © 1,23, @ 3,2,1,4

8. TrfafRaw afm 1 it 11 srehmfEm/crasht & m qu
The following lists I and II show the names of TRt W T ShE: it € | -1 Edl - 3

Economists/Authors and their books respectively. R
Match List-I with List-Il and choose the correct ‘{[ﬁﬁﬁ ST 3K Hﬁﬁﬂ% EICRATLRIY HZ H T 5
answer using the codes given below the lists : 'g'{ﬁwgﬁq : e
List-I List-1I o
(Economist/Author)  (Book) g1 eI
A. Myrdal 1. Economic Theory and ErRITEl/AEE) (T
Under-developed Regions A | i '
B. Hirschman 2. The Strategy of Economic . fide TRHINE Y g sierae fee
Development B. fesigw 2. T 3T TR
3. Strategic Factors in C. T 3 5q§lq|iﬁ$véaaqﬁg
C. Kaldor Economic Development D. Teq A ?;TWEMW‘
D. Adam Smith_4- The Wealth of Nations iy e o ATE A=
Codes : =T a "
C
= > :(J,: i) @ 1 2 3 ?
(@ 2 1 4 ®. 2 3 1 4
(b) 2 > 1 4 () 3 2 1
© 3 3 4 @ 2 1 3 4
@ 2 1 e . S 4

.....
-
.....
e
L

Scanned with CamScanner



D.ST;:_1~2

= . 3
‘ ot B F A Ry By
| o 2 . about 9. s H—aqﬁ% 9
i = : ments lS(@mle aied - .
9. Which of 1he.f01k’),\“’?mg stalet (a) VEN] genfarEt fare Ja & T Consider the fo
] “ecological niche o5 OCCUPY extensive and broader A E ' the Justice Part,
3< (a) Dominant sp_ccwso ) W affeerfaeh ki qT?(F@TFE]ﬁ'q ﬁ%i 1 The Justi
) ecological niche- Jarge in ecological ®) g T © At Nt B i g it a Brahr
1. Number of species PCCOTE™ a'% resources are aw ’ " 2 1t clim
niche of natural ccosystem, 1 ‘ et @ frra o Al SO Wiy "Afor non-]
sufficient. .| small in ccological ©) q']'f{ﬁmﬁiﬁm AT %v L ‘ had give
© mber of species becomes gafert <1 HEAT A S Which of the
= niche, if resources are sufficient. Los  becomes %) afe fordt ATeTd 7 dETET T %mém (a) _Bothl
. o 1 y
@ Dominance O | ‘S?‘nglgurczchistribution is 1 et SITRY 7Bl e = B g | Only |
minimum if the 7Tes ' )
equitable in a habitat, - ‘(fwﬁ-l I -gzﬁ'_n u gﬁﬁ'\'ﬂ #hifer i Vf‘m‘ ﬁ?:ﬁah Consider the
. ‘th List-II and choose the correct| Qe B T R T I T ‘he%ﬁi\‘i
. Mec LI_S"; t]:‘:tc\odes given below the lists -1 Hjﬁ'—ﬂ <1‘ 193\7\
answer usin &, ﬂ'\?ﬁf (T9) Sl
ist-11 (a?anga sTd) Orgar
List-1 LSl: i) R 1. w 2. Thee
(Biosphere Reserve) (Sta ) A. AR the C
LA Simlipal % 8 Kel:a : B. W 2. "/ revol
v B Nokrek 2. Odisha C. ST 3. Whi :‘ch:
. o 1c
\' C. Agstyamali = 3 Assaml — 4. o e
iR a
5o Manas 4. Meghaldy HE 5B © On
. A B
/ I COdes:‘\ B C LD @ 1 2 4 3 Consider
P ; 2 |
J @1 2 4 3 2y (b)31‘;l .
y 3 1 4 2 i © 2 4 2
4 1 3 o 2. Na
4 3 1 @ 2
i © 2 : 3. Inc
9/7— 4 4 3 11, Frefaiea o o REmRT: L4 In
tfd{ > mﬁ * Sﬁ’?{ Hm‘ Select tt
11. nsider the following statements : L Ay S SEEie & i
1. ™\Scientific investigation depends on commitment Frftd | ? () -
\Sma?ﬂml ideals. 2. Wﬁmﬁsﬁqmﬁm@ | X
2. Honesty is particulz!isrly important in science. 3 ﬁQ‘TQTﬁ:‘Z FATA TN gﬁm: Consid
' , Select the correct answer from the codes given below : S 1 NS 3| conecz
, 4)  Both statements 1‘an)d 2 are correct. @ it 1 a2 e E ‘;’ ‘hef
‘ (b) Both statements 1 and 2 are incorrect. (b) i ‘G’tﬁ Py 2' 1
I'i % (c) Statement 1 is corfect, 2 is not correct. (c) T 1WAT,2 3 3' ]
\ \1 )l (d) Statement 1 is correct, 2 is unpredictable. (d =Tl TR, 2 SRIING] : w P 4’
; faeret 7
\ 12, Which of the following is the correct order of plant 12, ﬁrcrf%{ﬁaa T { - I 8 Selec
species from higher to lower order ? T T SR R ® 2 .
4 (a) Class - Phylum - Order - Plant Kingdom (a) TM—FI-TOT— qrEq S ©
H (b) Order — Class — Phylum - Plant Kingdom (b) T —HE qeasm
(c) Class - Plant Kingdom — Phylum — Order (c) o —URY ST — 89 - Rl
lant Kingdom — Phylum — Class — Order ) [ g - P B
* 4 W TTTTTTTTmmmmmmmomTTITTTT
r—
AdmitC
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13.

14.

15.

16.

Consider the

followin t
the Justice Pa ol

\ Opposed Congress by calling
1ta Brahmjy, dominateq Organisation,
It claimeq the sqa

me Communal e i
: resentation
for non~Brahmins s

i as the Morley.M;

had given t0 Muslims, ¥-Minto reforms
Which of the above Statem
(@)  Both1 and 2

Only 1

ents is/are correct ?
b) Neither 1 nor 2
) Only 2

-

Consider the followin
the Workers and Peag

1.
?Q 1927 nd was given
Gfg'a—misation.

2. The objective of this
the Congress so that
revolution inclined pai
the common people.

ants Party :
The Workers ang Peasants Party was formed in
the form of ap All India

party was to work within
it could be made a more
Ity and an organisation of

‘Which of the above statements is/aré
(@ Bothland2

(b) Neither T nor 2
() Only1

‘),d)/ Only 2

Consider the following events and arrange them in
chronological order :

1.  East India Association ) 66 @%%

2. National Indian Association ==

3. Indian Society .| D4 6 , i o
4. Indian Association -

Select the correct answer from the codes given below :
Ka) 1,2,4,3 (®) 1,3,2,4

(;)K 2,1,4,3 y’2’3’4 ' 3§

in|16.
Consider the following events and arrange them

i t
correct chronological order starting from
to the last activity : . ? 4

i Revo

1. Royal Indian Navy i L
2 An):louncement of Cabinet Mission ;j:"

: t .
3. Formation of Interim Govem::::; Delegation in

; Parliamen
4 Arrival of a UK
Delhi

Select the correct answer

Aa) 43,21

(c) 4, 2, 1) 3

carlies )

from the codes given below :

o atementg with reference to | 13.
y .

8 statementg With reference to | 14.

15.

D.STF-1-23
ez it 3w 3 Frvferfae et o e hifong
1. Sifiz X e R 3 T AR e

FTAT TS g T R |
2. g st fore 4 @ e SR
1 e Fn e s AR g Y T
& e
3 & R o e 2
Z:;é?ﬁlaﬂtzaﬁ (b) FA1TE2
© ¥l (d) et 2

T Uz diviem ot % wd i Prefefaa ot T

feram ifre ;

I o e e o ot e 1927 g st
T AARaer Wi wre @ wg ey |

2. 58U w1 Sy Fw F starta & B HEr o

S ST 1 EIST ST ST 9 |
SEHE A ﬂqm/&am w2

@ 1823 ) a@riade
© ¥l @) @2

ﬁm%@amwﬁw%qwﬁwﬁ ~
It hifvg -

L =i e -
2. e $f agftre =
4. e g

A9 R e # Fw swoaf:

@ 1,243 T ® 1,324
© 2143 (@ 1,2,3,4

frafafan wemell W fem ffm @ = o
TR F sqafterd R, Tl vt S anfah
fafaft ae . TR e
1 e sy e fasde
2. e e sy e
4. oo et st 0 et i s
e ey e # & SW T

() 4,1,2,3

@ 4321 T
d 2,4,1,3

© 42,13
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17.

With reference to the Age of Consent Act, 1891

consider the following statements :
a Parsi reformer

/ It was Behramji Malabati, :
from Bombay, Wwho advocated  for this

18.

19.

20.

legislation.
The Act was supported by tl
led by Bal Gangadhar Tilak.
above statements i/

1€ extremist wing

arc CO

Which of the
(a) nly 2 (b) Neither 1 nor 2
Only 1 (d) Both 1 and 2

tatements, one is labelled as

her as Reason (R).
had to face opposition from
i .

n
s were fiot in favour
ted to

Given below are two s
Assertion (A) and the ot
Assertion (A) @ Shivaji
the big Deshmukhs.

Reason (R) : These

of an independent
remain as feudal lords of Bijapur. N

the codes given below :
(R) is the correct

Deshmukh
Maratha State and’ wan

Select the correct answer from
Both (A) and (R) are true and
explanation of (A).

(b) (A)is false, but (R) is true.

(c) Both (A) and (R) are true,
correct explanation of (A).

(d) (A)istrue, but (R) is false.

but (R) is not the

24
-
wing reasons caused catastrophic

Which of the follo
d mass coral deaths in the

[ .
%Eoral bleaching/ an
‘Andaman and Nicobar Islands ? s 3

) P . oy . &80
Tncreased industrial activities in_the coastal

regions
(b) Increase of 2°C temperature in the Indian

Ocean
4" Heavy marine pollutior\/

(d) Decrease of temperature by 4

x Ocean

Consider the following statements with respect to

% C in the Indian

The definition of Dhamma given by Ashoka is

taken from “Rahulovada-sutta”, | =
' P
2. In the year of his coronation, Ashoka
appointéd—a new type of staff, called
Dhamma-mahamatras. f ""i«
Which of th =l
ich of the above statements is/are cor’r“_é“ét ?

(@ Bothland2 . (b) Neither L'nor2
90)/ Only 1 (d) Only2

17.

18.

19.

20.

geufe @ g AftEH, 1891 & W= A
ot o e IS :

1. %W%@Wgﬂﬁ,m
=81 39 S b Fehrerd i ot |

%Wﬁwmﬁ?{m%
<rodeft yr@ET J quee fear an|

mﬁ@aﬁ:{-w@mgﬁ%@?
(a) HIA2 (b) AT
(c) el () 13R23d

2.

17 31 e Ry e €, o & e i S
@ Y IO (R) Al T |

arforerer (A) : frarsft 1 = 2wt %
SHTAT 9T |

HTOT (R) : 3 39T T TS T 5 ©
aﬁrm%maaﬁmmﬁm
R T R (R

@ (A) W ®R) I E@E AR,
L e g |

(b) (A)mﬁ%,?ﬁ;(l{)u‘e‘r%l

© (A) 3R R) 3T T &, FFg R),
T TF HET & |

(d) (A)Hﬁ%,ﬁwfgf(R)m%l

(d) firm TR 3 qraH 7 4° CHSE

rgie ¥ wat i Frefeifad st o forem
I, oW ¥ wm @ ST ORI

gelTEgR A A TR
2 o e & 143 2

W@mm%mﬁaﬁﬁ
ST I A -G/ FHoH G /8 ?
(@) 13M23H (b) FA1TE
(© A d) a2
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T J %
N |57 D.STF-1-23
21, lﬁi’éﬁi o of the following ,-o,recﬂy : 3 & i v AR A 8 7
. _  gsgqTd Rl 9q
—Ta) Artfcle 153 - Office of the Governor (a) 343’123? 153 - P
(b) Article 154 - /g)(()ecmive Authority of the (b) 313[?@'3 154 = SEAES -
Vernor :W — IIE?JQIEI gzl Tl
Aﬂicle 155~ Removal of the Governor 0 = 1 qeaTel ht gamErer @)
(d) Atticle 156~ Term of the Governor (d) IS 156 -
22, Which of the following ijg/ :
Constitution of Indig ? e stated in the| o wfrere i Rt i & A H &/ 2
"1 The President shall not be . quﬁ[m:‘ra‘a?ﬁ?é +ff e T AE T A |
- e HGtsEs TG Par]iame?l tmﬁ:mber of either of L. o R <t
) : 2. due Uty SR AT we @ e l
-~ The Parliament shall consist of the President ' e gﬁ:{r{
and both Houses. . ﬁﬁqw%ﬁﬁmﬁm :
Selegt the correct answer from the codes given below : @ 1 2 ?F?T 1 ®) e 2
Both 1 and 2 (b) Only2 © TA182 @ Fl
() Neither Inor2  (d) Only1 5&%
O
23. Consider the following statements : 23, Frfafed e o e R
An Amendment to the Constitution of Indj gt dfgae § 8 gy A T IUsHA TR ST
ia can be
initiated by the : HhaTa -
1. Lok Sabha 2. Rajya Sabha 1. S EIE 2. TSTEAT TR
State Legislatures 4.  President of India 3, mﬁmm—“qg?ﬁ S 4. m%mgcrﬁrm
Which of the above statements.is/are correct ? méﬁﬁ%aﬁw-m/@rwaﬁ%/% ?
@ 1,2and?X 1and 2 @ L2sis LY o 192
Only 1 d) 2,3and4 ’
© Only @ an © Fa1 i (@) 2,334 =y
24.  Which of the following are the functions of the & ] =
Election Commissioner of India ? 24, WA & Fatm SIRET] Fiefafaa i a s s g 2
g__——"’__—‘ .
. Conduct of elections for the posts of the Speaker 1. OF GUT F o7eae 3R IUTEH AT TSI O F
and the Deputy Speaker of the Lok Sabha and STETIRT ¥ et 3 fre Frate @ |
Deputy Chairman of the Rajya Sabha. ' ]
. Conduct of elections of the Municipal 2. TR iRl 3t AR ft % foe et
Corporations and Municipalities. P
3. Deciding on all doubts and disputes arising out of 3. 3w ﬁa’f'q:[ T 3= oft Geat ok a1
the above elections. faofam | i
Select the correct answer from the codes given below : ﬂ%mmwﬁﬁuﬁwgﬁn .
(@ 2and3 (b) land2 o N e
(c) land3 (d” None of the above @) ZSRS A LR
1 © 133~ (&) SHEAIRETE
25. Which one of the following is correctly .
matched ? Y- ;
(@ GVK. Rao ~ Planning at the > ﬁﬂ%ﬁ;% aﬁqm@wmqﬁ%?
Committee Block Level (a) STAF TEEla - TESER W N
(®) Dantwala Committee — Rural Credit (b) dadTen afufa —  Tyeor ST
/ Santhanam Committee — Panchayati RaJ (c) TG ~  YaEadt Uy o
Finances : : e
. d) EHFEAAGNT - durEd O demt
(d)  Ashok Mehta = Panchayan Ry ( ‘
........... Committee Instlfutl‘”‘s_l
e N e S ——————
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e of | 26.

i
. $ equenc
26.  Which of the following is the correct s€d

phases of Biotic succession ? ion

(a) Ecesis — Migration — Reaction — Stabil1sa

(W Ecesis — Migration — Stabilisation — Rea !
l itisation — Ecesis

{c) Migration - Reaction — Stabilisation — E

‘/(«d Migration—Eccsis; Reaction — Stabilisation,~

| Y

ction

i, 2,
4t i elled as
Given below are two statements, one is lab

Assertion (A) and the oll‘)q'ri as Reason (R).

ssertion (A) : Relative humidity decrea
Dgcreasing air temperature.

ses with

cason (R) : Absolute humidity increases with

Ihereasing evaporation.
Select the correct answer from the codes given below :
(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(A) is false, but (R) is true.
Both (A) and (R) dre true and (R) is the correct
.- explanation of (A)ig‘i

(A) is true, but (R)is false.

7

Which one of the following is correctly matched ?

®)
©

28.
28.

Biodiversity
Sea water density

Air temperature ,—

(@) Ecocline

(d) Halocline

Sea water temperature

X

Match List-I with ListIl and choose the correct
answer using the codes gfi,g'en below the lists :
List-T ry

Planting Hearth

29.
29,

g
L R |

List-IT

—_—

Hungary
Adolf Engler
C.O. Sauer

Arctic Tundra

(e}
Fé

[

Cryophyte Steppe ™
World Floral Regions
Puszta Grassland

Codes ;

A.
B.
C.
D.

Sl

Vhich
Nant — ¢

a) Al
(©) )

b) B
(d) ;A

3 et Fo e &, Rl & O Y A () B

(b)

R T (R) FEAE e
31&':2’:;%(?) . graferh mm%mﬁﬁmﬂ
[

T (R) : e 8 g % e e sy ;
ik

ﬁﬁqﬂqﬁﬁ%lﬁfmﬂﬁq: (Z) ]
@ (&) 3 ®) A E R ), )3
#E!TERHT%I Give!
) (AT R, g (R) FA T o
© (A) 3 R) I T E AR R), (A) Fpgse
W%I Reas
@ (A)TEE, g R) T e o
A Sele
P & e AR £ 2 oy
(a) TPFaET - Sa-fafyer
(b) TS — WO S o S:;
(c) UHIFEET  — ST T ATIHH 2
d %Eﬁa’_ﬂﬁ;f — O ST 99HE (d)
Mz
L A1 & e it s gl 4 an
?} '; -1
& RUSL 1. g A
B. HR%rEe B
C. fa% = 2. TR
D‘ wa};‘ 3. fiaq T
PR 4 TERFE
& .
A B C
@ 4 5 ) D (
1 (
®) 3 4 5
© 3 4 1 J
d 1 2 i
“-“.-"“"--___‘_2_ _____ 3 4

---------------
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hi (A)m

Hﬁi’l}
ﬁmﬁi

A) ity

\) i}

Qg
=

il

Match List-1 with List-II and choose the correct|33,
answer using the codes given below the lists :
List-I List-II oH)
(Coal Resources) (States) '
A. Hutar 1. Madhya Pradesh
B. @(iver . Chhattisgarh
C. Mi—Ramko}A. Odisha
D. Umaria 4. Jharkhand
Codes :
A B C D
@ 3 2 4 1
(b) 2 1 3 4
M 3 2 1
k¥ 42, 30

36. Which one of the following pairs (Aluminium |30,
Plant— State) iorrcclly matched ?
/(a) Alupuram (Alwaye) — Kerala
yagav: — Karnataka
Muri — Chhattisgarh
6] Hirakud — Odisha
o
31.  Which of the -follovsi (National Park - 3.
State/Union Territory) @ ectly matched ?
() ajaji —  Uttarakhand
pin Valley — Jammu and Kashmir
© Bandipur — Kamataka
(d Simlipal — Odisha

32,

33.

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : The Himalayas are still rising.
Reason (R) : The Indian tectonic plate is colliding
with the Eurasian plate.
Select the correct answer from the codes given below :
(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(b) (A)is false, but (R) is true.
(c) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(d) (A)is true, but (R) is false.

32.

A PRI
(a) W(Wm B m
®) _ e
©) 1l [~ 4 el
@ @“Tg:;
m%mm g &) # 4
mmﬂ;ijﬁmwﬁ%? .

@) SIS — m@g
ORES — ST I

(© WA - e

@) Reefmer - S

3 2 et R T &, R & T Y SRR (A) TR
a@ﬁw‘m)ww%l
arfereRer (A): . e anft i SR wIR |

T (R) : R S e R e A T

gl (e

A R 2 f & we S

@ (A) 3 (R) W T E, g ®), (B) B
ST T AT |

() (A)TedE, fFg (R) TR

© (&) M ®) W TG E M R), (A) T
AT HTR |

@ (A)TEEFgR) TR @%%

aahaﬁuﬁnﬁaﬁmaﬁﬁqeﬁt{ﬁﬁ%ﬁﬁq

’T‘{mwu@wwnﬁwgﬁq
W-In"a I
(ﬁ’ﬂ(‘*ﬁ“?@?} A7)

A. §“‘ 1. "Wy

B. sﬁ'«'fr 2. oG

C. UMM —TWehIr 3. Sfrfem

D. m 4. m

a;z:
A B C D

(@ 3 2 4 1

® 2 1 3 4

0 4 3 2

@ 4 2 3 i
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34. Match List-I with
answer using the codes giv
List-I
(Canals)
Upper Bari Do

W Sutlej
Sirhind Canal 2. Yamuna

Gurgaon Canal 3. Sutlt.:j, Ravi
. Indira Gaﬁdlgi Canal 4. Ravi
odes : )

List-1I
(Rivers)

1
2 3-
(d) 2 4—

35.  Which one

three times in a year
(b) Bihar’s contribution to

ice prodﬁ?tion
‘J;J/étate witig?rgest area
under ricg.production
(d) Isohyets that decide
western lifiit of rice
producti(g;ls“é

36.
cotton crops :
1. Cotton is mostly a Kharif crop.
Cotton crop requires

: moderate amounts of
rainfall varying betwee @. annually.
Which of the above statements 1s7are correct ?

(b) Neither 1 nor 2

v (@) th 1 agd 2
© Only 1 |

(d) Only2

. CTy
37. Given below are; two statements, one is labelled as

Assertion (A) and the other as Reason (R).
Assertion (A)Z{’Red soil denotes
soil group of India.

Reason (R) : Red soil surrounds the bléck soil in the

south, east and north directions.

Select the correct answer from the codes

(@ Both (A) and (R) are true and
explanation of (A).

(b),, (A)is false, but (R) is true.
/(6{ Both (A) and (R) are true, but
Correct explanation of (A).

(@  (A)is true, but (R) is false,

List-IT and choose.th.
en below the lists

of he following
(Crop — Peculiarity) rrectly matched ?
(a) State where rice TS grown  — West Bengal
15:7%
Uttar Pradesh _

100 cm

Consider the following statements with reference to

the second largest

given below :
(R) iS the Correct

(R) is not the

e correct 34.

, Beas

pairs
35.

36.

37.

*10*

Ay A
1 A G A gﬁ%ﬁwaﬁgﬁqﬁ E: i g
miz:;:@’fmﬁ a1
A gaddeETe L i
. 2. 4
2' ﬁ:; 3, wag, T
p. ghaq it & 4.
F‘A 3 C D
4 1 3 2
& 3 2 1 4
©@ 4 1 2 >
@ 3 1 2 4 .
P it (e — P & & A
gafea 78T 8 ?
() e & e A e - afy
tgr T ATt UsA
(b) e IedTe H fergr =ht = 15
EILCIC]
(c) T IcUTEH o e - S
gaifres SFwd arar TS
(d) T e hi aiveHt ~ 10
i Fraii & arelt

1. éﬁmg@a:@ﬁmw%l

2. WU % I % fow e 50 ¥
e N1 Y STt A R} |

ST T A PR o ) B/

@ 1HF o) adriTd

© F= @) w2

ﬁawmw%ﬁﬁa@@m

U T (R) et o )

AR A) : |1 .

Hff‘ﬂﬁ;ﬁ%l W’m%aﬁm<

R (R) : 9T gy 1

(a) (A)E((R)ﬁ‘?}g“ﬁ o

() (A)na:?%' ' |

© () o TR T,

o (R) IR ey 3 Ry (U,

“eal
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3
i 7 fau,
B @-I%ﬁ@-ﬂaﬁaﬁamﬁ@m%:ﬁa
38‘ Match List-T with List-Il and choose the correct 38. R b maﬁtﬁﬂ'ﬂﬁm:
answer using the codes given below the lists : q;;ﬁ_l @-II
List-1 List-11 @ﬁmmﬁﬁ?ﬁmﬁ)
(Name of the City) (Period of being el ) . i
Planned) A. aﬁ'f;ﬁg(q 1. T
A. Kanchipuraf T Post-independence B. Aaei 2 afgfrafirs et
B. Jaisalmer 2. Colonial Period C. & : 3. HEEH
C. Kodaikanal | 3. Medicval Period - R = e
D. Bhilai \___4—Ancient Period D.
Codes : T
A B C D ‘ A B C D
% 3 aytes A5 @ 2 3 4 1.0
4 3 2 1— e
© 1 2 3 4 @3&% ® 4 2 : : ;32 %
@ 3 4 1 2 ) © t 2 3 4 ™ ok
@ 3 4 1 ot

L

39,  Match List-I with List-II and choose the correct

answer using the codes given below the lists : 39. @'I £l FI;Eﬁ-II q ﬁﬁ%ﬁf Hifsre 3T Eﬂ i % i feg

List-T List-II T T AT R AT
(Famous Local (Place/Area) g:‘ﬁ'l q\iﬂ'—ll
Storm) (RIS T ) (T/514)
A. Mango shower }. Punjab to Bihar A. I aut 1. U9 Y foewas
B. Blossom shower’ 2. Kerala B. Sl I SI9R 2.
o ';f,..%“
C. Norwesters 3. Karnataka Coastal Areas  C. FA-ETE 3{31@?3"??235 &
D. L . .
00 4. West Bengal D. q : Y }ﬁ\ﬁqm
Codes : 3
FT : =
A B C D ® o
(@ 3 2 | 4 A B ¢ D
® 4 1 3 2 @ 32 -1 4
< (RO . N | ® 4 1 3 2
@ 1 3 2 4 © 3 2. 4
@ 1 3 2 4
40.  Which of the following pairs iorrectly
matched ? . f,
. 40. ﬁﬂﬁi@aﬁﬁﬁ?—mwgﬁ@m TER
- Capital Country ey
" Tt o ih
%) Naypyidaw —  Myanmar s NS
4 (@ TR - oy £y
Khartoum — Ethiopia (b) @]—iq _ S‘Eﬁffm{m!
(©). Dublip o
— Ireland (c) =afem _ e
(d) OttaWa
_______________________ - Canada @) ARE g
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Match List-I with

43.

____________________

%&%

s ents with
41. gtatem

Consider the following

Upper Gangetic agro-climati®
ses cen

region :
and western
| This region encompas tral
Uttar Pradesh. e
than 130% jrriga
as more . '
cropping intensity.
rrect 7

2. This region h
intensity and 140%

Which of the above statements is/are cO

Both 1 and 2 (b) Neither 1 nor 2

Only 1 (d) Only 2

(©

List-II and choose the correct

answer using the codes given below the lists :

List-T List-Il -
(Pass) (Height[ffbm Sea Level)
A. Debsa 1. 5360 m%tjr%s
B. Rohtang 2. 4850 métrt}s
C. Bara-lacha 3. 3978 méirés
f
- D. Banihal 4, 2832 metres
-—
Codes :
A B C D
(@ 1 3 2 4
b)) 3 1 2 4 :
0 1 4 2 3 @%%
@ 3 1 4 2y 5 o
¢h

Given below are two e i
v belo statementéﬁ.%me 1s labelled as
on (A) and the other as Reagon (R)

)%ssertion (A) : Jute is an indigeftig'lils plant of India
/&g:ri:y :)X)J : Jute is a Kharif Crop sown fr(;m
S une and harvested from July to October
elect the correct answer from the codes given below |

(@) Both (A) and (R) are true anq (R)

explanation of (A), 18 the correct

(A) is false, but (R) is true[ |
o ‘1,‘?“

o B A
(¢) Both (A) and (R) are trugf,'but R) i
correct explanation of (A).(Q’“; Bk

d (A)is true, but (R) is false( !

b
LTS l

Y

41.

42.

43.

.....

Eﬁﬂﬁﬂﬁ'ﬂﬂ'm:

qgaaarﬁﬂsﬁtqﬁ?rﬁwmqﬁ
2. gqasrﬁﬁaénmm%aafm
T 140% B |
ﬂaﬁqmﬁzﬁ@mﬁmgﬁq:
(a) | 3fig2 3 (b) TA 17
) Faal (d) Fa2

Tﬁ-laﬁqgﬁ-llﬁgﬁ'f\ﬂﬁﬁﬁmaﬁt@ﬁ
mfemmmaﬁmﬂﬁq:
-1 -1
(@) GREC A
A. e 1. 5360 HiX
B. Tgdim 2. 4850 Hex
C. dRrdrEn 3. 3978 HieX

D. ST 4. 28327
R -
(@)
()
(©)
d

W o= W=
—_— A = W
AN N DDA
N WA AT

. , 58 & o =y ot

W(A):agmwﬁ‘ﬂ@ﬁm%l

Sy 0T Y w4,

@ (a) s :
(R) 3 T ¥ o (1
Wm%l BRI AR (R

(A g, ey ) w2

@) 3 ®R) 2t g 3
it SR S

(A) u
B R) 2
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| “ﬁﬁ 44, -1 with List-II and choose the correct 44. )
ﬁih‘ §I MatC:r II; sl1sng the codes given below the lists : A T =T g L el IW "Eﬁq :
ﬁ&h‘ anslest-I List-11 : -1
Essayist) (T,-catise) ‘ (ﬁﬁg)
A I()evana Bhatta 1. Dan Sagar (fAaen)
2 B. Hcmadfi 2. Parashar Madhav A dqur oTE 1. CRRSIMEN
C. Madhvachary 3. Chaturvarga 5 UERHTE
[ Chintamani B. ¥ Fou .
D. Ballal Sen 4.  Smriti Chandrika C. wvETEE i» 3. I e
Codc—si.:. ‘ D, seaEdd iy 4 apfa A
. s
h' a? m' A B C D & ¢ i
\)a/ 2 4 1 37 A B Ci D
g 2 37 @%% @ 2 4 1 3
FT3) A Ci ® 1 4 2 3
4 3 2 1 © 3 2 1 4
“ @ 4 3 2 1

45.  Given below are two statements, one is labelled as R A) T
A;\s:ruon (A) and the other as Reason (R). 45. = F ﬁqnﬂ:% o & T (A)

Assertion (A) : Turkish invasion on India was aa}ﬁw (R)WW% '
successful- TR (A) mﬂtaﬁ SATSHATT AHA T |
e Reason (R) : There was no political unity in North H R) : :ﬁtmﬁwﬂ%m?ﬁf?ﬁ I %
s di
5 = | _ 3 R § @ wd I
Select the correct answer from the codes gfven below : @ (A) @0 ®) a:h . . (R), @) & ud
‘/@( Both (A) and (R) are true and (R) is the correct T FTE |

explanation of (A).

(®) (A)is false, but (R) is true. b (@TEad, R wER

(©) Both (A) and (R) are true, but (R) is not the © EA) Ll (1‘{) ??F?%H'zﬁ %, g (R), (A) T ==
correct explanation of (A). "E‘T@T TE FET T |
() (A)is true, but (R) is false. @ (A)H%‘T%,M (R) AR |

T (A)T Vo
Consi : ding Voice of
46. G(l):;uliesr the following statement.s regarding 46, dig@ ST oA mw o i ('q‘i S TEE.) Gy
al South Summit (VOGSS) : P ) ﬁﬁmﬁf@ﬁmql‘ﬁm(ﬁﬁq
. 1. India recently concluded its 2 Voice ©
1. Wﬁwﬁﬁmmmm@aﬁ
a, | G . .
I lobal South Summit. maﬁzwi‘?ﬁm%l
are |l ,2. The term Global South is related to developed Ca
L - 2. T WIS A forehtid o W et g |
) & 4 Which of the above statements is/are correct ? 3‘1!3?5 Y H-E1/A AT TR 2/E?
(3 Onlys (a) T2
®) Neither 1 gor 2 (b) TAL1TE2
il d S oy ) :
@ Both] angy @ 1322

”
-
one”
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Climate
S in

e
m’%ﬂﬂ

& nental Panel o0
47.

1 .
What does the Intergovern regarding reduction

hasize
Change (IPCC) emp eI
greenhouse gas (GHG) emission 4 . enough
1. Gradual and limited reductions a

i ential.
Deep rapid and sustained reductions _arenets)z one
Slelcct tlu; correct answer from the c.odcs fl;/;:r 2
(a) Bothl and 2 (b) Neither

2
() Onlyl " Only

1 “Cereal Yicld” referto ?

48.  What does the tern produce d per unit area

~“The amount of cereal cx-é;)é
of harvested land ;
2. The total production o

country

)%elect the correct answer from the c.odes given below :
(a) Both1land2 (b) Neither 1 nor 2

o only 1 (d) Only2

Which of the following statements is true regarding
the trend of unemployment rate in India between
July-September, 2019 and July-September, 2022 ?

1. Itremained the same.

2. Itdeclined. [

Selegt the correct answer froxﬂ“ig}}c codes given below :

2 is true and 1 is false. '}

(b) Both 1 and 2 are false. ,

#

Who prepares/publishes the Global Multidimensional
Poverty Index (MPI) report ?
I. World Bank and International Monetary Fund
(IMF)
2. Oxford Poverty and World Health Organisation
(WHO)
3. Oxford Poverty
™~ Initiative (OPHI)
/V(I{Jnﬁtgi) ) Nations De;s{opment Programme

Select the correct answer! “fi
rom the ¢ i
e o odes given

(a) 2and4 &) Onl EE
). Aonly 4 )
L ani 4 5

%4 . .
{ cercal crops in a given

49.

1 is true and 2 is false. 3;
Both 1 and 2 are true. .}

50.

and Human Development

(c) land4

Given below are two statements i
Asserti_on (A) and the other as Reésg?le(ﬁs)'labelled s
Assertion (A) The concept of Sustainable

Development i
Report.p Wwas popularised by the Brundtland

Reason (R) : The Brundt .
as “ The Limits to Grov:/lth’l’_;md Report is also known

Selgetthe correct answer from the i
codes :
ﬂom (A) and (R) are true, byt (%ge?sbelow.
correct explanation of (), e e
(b) (A) is false, but (R) is true.

(¢) Both (A) and (R :
explanation of((/zfre true and (R) is the correct

(d) (A)is true, but (R) is false,

51.

47.

48.

49.

50.

ol

T

D,%}
frreTeH wasit) IS T EN
S ,Té:ﬁq(i AT I (%.‘ﬁ.{?{l

e ?
Taﬁtmaﬁtpﬁﬁaa@ﬁm%‘l Ccotl
2. m,mﬁtmm J HEH;%I chrof
ﬁﬁgm{eﬁﬁvﬁwﬁﬁqi L.
(a) 1 32 a0 (b) TAW1THy 2.
© ¥aa 1 (d) FaE2 3.
umgqa"’WWWW%? . 4.
. mﬁt@%ﬁWMﬁWSele

Sl RIEL ] ()
o fo R T AT H SIS BHA B FRAH, (©)
(a) 1 3T 2 aAT (b) FaAT 1782 o
(©) Faal (d) a2

qes-Rrawar, 2019 3 FEATE-FaR, 202
R 3 ST ot B S ok e A el A
F-T H T T 2

1. TRt E
2. WIS

2 R e # & T SACIMAC:

(@ 2%ftgsf1Teas| ‘

(b) 1323 @A

© 1WA 2TeaR| .

@ 13R2IFERE ﬁ%&

frn gt TS FEhich (A fo

AT/ SRTIRTT LT & 2

2. SIS THIef ST forer e Tra (gseq g
3. SerIE T i arer e et (T
4. T T, forehrr smelomr (4, 1)

A9 e e & vl s

@ 23R4 (b) Faera

©) 134 ) 334

T < e R 8, R 2 oy s

WW(A)‘WFWF@IW@%

TR, B () e

B s
a‘“?"m)%?:h T Ak R), (A

A
( )w%’%(mma.
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54.

Assértion (A) and the other as Reason ®).
sertion (A) : During 2023 -24, Singapore

worl !
world Thyroid Day

11d No Tobacco Day
Day of Light

By
=

Wwo
Imcmational
¢ correct answer from the-codes given below :

by 1,4,2,3
(d) 4,2,3,1

4.
Select th
@ »b3

© 23h%

List-1 with List-Il and choose the correct
the codes given below the lists :

List-1T

(Reason)
1. First Indian Gymnast to win
Gold at Asian Championship
Indian born NASA scientist
who led the team to study
solar ecliptic impact on
ionosphere '
First Indian Space Tourist

Match
answer using

List-I
(Pcrson)
A. Gopi ™\,
Thotakure
B. Dipa
Karmakar

C. Aroh
Barjatya

D. Dev Patel British actor who made his

directorial debut with thriller

“Monkey Man”

4.

Codes : .
A B

W= NN A
A Ak wg

1

1
) 3 2
@ 2 1

Given below are two statements, one is labelled as

emerged as the largest source of FDI to India.

Reason (R) : The India — Mauritius Tax Treaty

amendment has brought a major shift in countries as
major sources of FDI to India.

Select the correct answer from the codes given b

() Both (A) and (R) are true, but (R) is not (e

correct explanation of (A).'

\/ﬁﬁ‘ (A) s false, but (R) is true.

(¢) Both (A) and (R) are true and (R) is the correct

explanation of (A).

elow :

L)

(@ (A)is true, but (R) is false.

53.

54.

_______________________________________________ *15*

Ay forg o e & R IO :
(@ 3,1,2,4 (b) 1,4,2,3
© 2,3,1,4 @ 4,2,3,1

-1 aﬁ@-n@rg&%ﬁaﬁrﬁmaﬁw@ﬁ%:ﬁ%m
W@Hu@fﬂﬁg’zﬁm@:
-1 11

I (FTC)
it erT 1. ofras et & €t Sfie
TG 3 5 NASA 1
e STA-Hed WET

3 TS T ST FA
Tt A ot Aqged fonar

qee R Siaie Tbeh

forfea arfirar et forert weht
- A 3 are T e

B. (€T s 2.

i 1
L%

4

C. 3B 3.
EESIRU
D. WY 4.

We :
A

@ 4
®) 3
© 3
(d) &2

&) ~
aﬁ%@‘iwﬁqmimﬁ@ﬁm (A) T
0 BT (R) Tl AR |
STRTHE (A) : 2023 — 24 3 S RA, Wi # FDI
T T ST BN SRt W |
TR (R) : T — T X R G ¥ WRa §
P ACCHIREEN (FDI)%gg@aﬁiﬁ%wﬁ%sﬁﬁ
ET TEEE A2 |
.ﬁﬁqmvgﬁ@aﬁwgﬁm
@ (&) T R) W w E R ®), ()
T el FAT S |
(A) T ©, TR (R) TR \
(A) 1 (R) 3 & § A R), (A) G
SR HET | |

P [N

_ N = =
w = N NA)
N O R VO I
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o A TMig”
55, Whatis R2 1/Matrix-M" 71y

(a) Vaccine against M

Institute of India
alaria developed b

‘yb?/\(’accinc against M
Biotech International

e against AIDS developed by

alaria develope
£ \.

(c) Vaccin
Institute of India

(d) Vaccine a
Biotech International

56.
in the Un Certain Regard;catcgo

Film Festival, 2024 ? £y
-__—""_-* -

¥y

(a) Kiara Advani :‘ i
Anasuya Sengupta
(¢) Urvashi Rautela

(d) Sobhita Dhulipala

57.  With reference to RudraM-II MAissile, which of the

following statements is/@
& Itis an air-to-air missile.

& It was tested in Rajas;ih;n in May 2024. |

Select the correct answer using the codes given below :
|7 3

b) Neither 1 nor 2
(d)';f Both 1 and 2
{ﬁ""«:

(@ Only2
(c) Onlyl

58. Match List-I with List-Il and choose the correct

answer using the codes given below the lists :

List-I List-IT
(Newly Elected Head (Country)
of the State)
A.  Gitanas Naus Iceland
B. Luong Cuong Vietnam
C. Halla Tomasdottir Lithuania
D. Jose Raul Mulino 4,  Panama
Codes :
A B C D
(a) 4 1 2 3
_1b) 3 1 2 4
W/}i 2 1 4 oTHo]
(d 2 1 3 4 El’g@

............................

d by Serum
y Bharat

Serum

gainst AIDS developed by Bha

rat

. F rd [ 56-
Who among the followm;:;f,\_vonWf1

ry of the Cannes

57.

58.

@) B e

fRaes ST
®) SR EeREE B i

fgetrh LT .

g 21T

R SRl

i 3 forery e fohen B, :

3 forr et T AT T T S
(a) fpam FATSaTof _ .
(b) ST S 5
(c) et e
() ifrar gferarer
szunIl framse & o # Frefafea &
FHUT S 2/2 ?

. I8 gar-a-gar § AR arcl! e
2. T TE HE 2024 B TSI H fF

R Romoge § & wd ST
(@) a2 (b) TA1TH:
(c) Faal (d) 1323
-1 1 -1 & o AifvTg oit gie
T e HT TN HHE IR AT -

F’f. T4 75E) S
A AR 1. 3
B et 2. fR
C. mmﬁ.(“ - | S B
D. :

- D. S ee i il
&

A B C
(@ 4 1. 5 ;)
® 3 7

" -
© 3 5 :
@ 2 , .
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Dem
W g following pair. (D
5 ne e of S €ccan
’ 9. Which © rrectly matched ?

60.

61.

Trap -

Pecu ] lﬂﬂ ty)

cpth of middletrap -~ 1200 metres

ﬂl)proximatcly

(a) Do

ertrappean beds Fossils of geq plants

and anima|g

(b) In

‘/(,/Dcplh of lowertrap -

pth of upper trap

150 metreg
approximately
450 metreg
approximatc:ly

(@ De

Given below are two statements, one is labelled g
Assertion (A) and the other as Reason (R).

Assertion (A) : Jet streams discovered during World
War Il are high altitude easterly win ds.

Reason (R) : Jet streams flow with a speed of
300 - 500 km/hour.

Select the correct answer from the codes given below :

(a) Both(A) and (R) are true and (R) is the correct
gxplanation of (A).

(A) is false, but (R) is true.

(c) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(d) (A)istrue, but (R) is false.

Métch List-I with List-I and choose the correct
answer using the codes given below the lists :

List-I List-II

(Country) (Mountain)

Spain - France. — Alps
Switzerlal\d/__/;./ Apennine

Bulgaria \ Pyrenees

Ttaly <~ B 4.  Balkan

2a

I\J*—‘AN()

59.

60.

61.

D.STF-1-23

Freaferfaes it et 3 — fordvremy 3 & - vl
ifera 787 ¥ 9

(@) "erdudinierd - T 1200 Hie

(b) i FweEdiaa -~ aml qrdr st SR
| & 3Ty (Sftame)

() ﬁwztraﬁrﬁzr{ — &M 150 X

() mﬂ?qzﬁnfraﬁ- T 450 HieT

gy

ﬁ%aﬁmﬁqw%,{ﬁ;wﬁﬂ@a%wﬁwm)w
T Y FHTT (R) T 71472 |

AfirraT (A) : el e g % Qo deh 7 S
HRTE, oty et & <rer areft qeff 3t et gamd |

THROT (R) : S G131 Y yarg 7fr 300 — 500 fft wfr
rag

e o e e # & wd g

@@ (A) 3R (R) a‘rrﬁlaa g 3 (R), (A) F &

ST FATR | |
(®) (A)W%%(R)E‘a%l
© (&) 3R ®) I @ E g ®), Q) B @
T g R g |
(d) _(A)H‘s“f% ﬁﬁf(R)naa%l -‘E%%
@Iaﬁxﬁﬂnﬁgﬁﬁaﬁmaﬂt{%&r%ﬁﬁq
T 3 T FAT W I AT
qEil-1 qeI-11
@) ; )
A EE-BE L L I
B. faels 5; 2. WA
C. goman s fielw
S R
e
A B C D
@ 3 1 2 4
(b) 3 1 4 2
€ 2 3 1 4
d 4 1 2 3
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62.

63.

64.

66.

68.

69.

with : 0%
(a) Kidney (b) Gall bladder
(c) Liver V(ﬂ')/ Pancreas
. The recent global pause during COVID-19 pandemic 70.
was caused due to ; ;
i) SARS- CoV-1, (b) H
(c) SARS-CoV- 2 MERS - CoV-2
A bus covers the first half of a ce istance with | 71,

71.

62.

. are called :
Plants and animals that liveon land

(a) Abiotic

D) Athchﬁbﬂ'mts
ﬂ/ Terrestrial habitants
(d) Biotic | "
ioint where the neck joins the head 18 :

jdle joint
tal joint (b) Sac
\/;; :;l:n(::: iiint - (d) Ball and socket joint
c -~ -

i seis:
The di:catc- nicroorganism among thes
, \/(])) Pathogens

(a) Archaca
(c) Bacteria

The,]

64.

(d) Protozoa
‘ 65.

Milk is an example of :
(a) Foam
(c)
The formula of baking soda is :

(a) KHCO; (b) NayCO3
(¢) K,CO3 NaHCO;,

(b) Sol
\},i)* Emulsmn S_'f/'“

Aerosol

L

CPR stands for :
(a) Cardio Prograni_n}e Rescue
(b) Cardiac Pulsatil:e‘ll{cvisim
Cardiopulmonary Resuscitation @3&%

(d) Cardiopulmonary Revision ok

The galy vein that carries oxygenated blood is :
\/(q/c;uhnonary vein  (b) Cystic vein

(c) Cardiac vein (d) Hepatic Portal vein

Diabetes is the most common disorder associated

speed vy and the second half with a speed V,. The
average speed during the whole journey is

(@) Vi V2 2v vy
Vl * \p) \)br Vl + V2
v + v,
(C) _2—— (d) -\’VI V2

Ne s,
66.

67.

68.

——

(a) D ?
© orefier et vhich ©
(d) Afers 1:\tchcd
Gﬁgﬁﬂﬂé'-fﬁﬂﬁm?ﬁ% roject
(@ Feeass ®) Fsy o O
© FRaE (@) T, b) Hyd
iy O AT A R 5
f:? st (b) ’/'“
(C) W @ m d) 1rr
L it & feereht TR ?
(a) e (b) Hier ~onsid
(©) (d) e Fultivd
A A A i\ A
(a) KHCO3 (b) Na,CO,4 /h
© K,CO3 (d) NaHCo, 7 :
CPR (&t ) FAEE 2 : 4
(a) hIiSHN ST = Z;‘;
(b) I TeHeTEe S
() EATerd gefiad ©
() FrEATeARd e r

I8 A R S SRS JF & T g
ﬁaﬁﬁ%:

(a) TR R ) Fafestm
() T R (d) %ﬁﬁ*‘fﬁaff
Tepie S i o wga & W e, HaﬁmB
(@) TFHA (b) frem=d
) THaH™ (d) IF=ANETE
T & A Mfre-19 TEmE % o A 3
TR :
D
(@) SARS-CoV-1 (b) H5N1
() SARS-CoV-2  (d) MERS-CoV?
o T e Fifer gt o el s g v, 1
Rl R T I et 2 nﬁﬁqgm%l%
3 1 Y it i Qe 2
(a) VIVZ 2V1V2
b et
Vit v, ®) vy + V)
© 2 (d) V1V
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72. mmﬁ%ﬁwﬁ%mqwmwm s

B
é%% of the following pairs is fot chrrectly
72.  Which " ording peculiarities  of Ramganga
match®
_,P_‘W th - 825
Dam’s leng *8 metres
dmpowcr generation = 198 MW
Hy
a acl(y
}3 g A ~  Garhwal
I/‘!’)/ Locatl®
(Uttarakhand)
& ]m'gatcd area — 6 lac hectares

der r the following statements with reference to
onsidé

73.
ca of some countries of the world :

cultivated 3¢

; \/ comparison to USA, China and Japan, India
' pas highest geographical area under cultivation.

../In dia's Jocation in tropical monsoon region

helps diversified cropping all through the year.

of the above statements is/are correct ?

Which
Both 1 and 2 (b) Neither 1 nor 2
(c) Onlyl (d) Only2

74.  Match List-I with List-II and choose the correct

answer using the codes given below the lists :
List-I List-TI )
~ (Place) (Confluencing Rivers)
A. Devpray(g\;. Alaknanda and Pindar ‘.
B. Rudrapray. . Alaknanda and
/ Bhagirathi
C. Kamaprayag 3. Bhagirathi and
Bhilangna
D. Tehri 4. Alaknanda and
Mandakini
Codes ;
A°'B c D : E%%
(@ 4 1 5 3 Ok
R
© ¢4 | : i Dk kv
Ry g é . P

& - AR TE € ?
(a) aterehY oams _ 8258
() e ofe s - 198 FTE
&t .
() Rufa _ oA FTES)
(@) fifera &= P _ 6T gaA
l’\.\
@)
e

73. ﬁw%g@%ﬁ%ﬁﬁﬁ%mﬁﬁﬁﬂm
aﬁwﬁrwﬁaﬂaﬁﬁqm
L UsA, =i it e S qeEr i S & F

i & sFan 2 | A
2. wmmmﬂmﬁﬁ%mm
ﬁaﬁmﬁﬁwmﬁm%l
aq{i?ﬁﬁ@rﬁq-mféwaﬁ%/%?
(2) 1323 F:(b) IA1TE2
() adl 9‘5@ e 2
: ™M
. A’ t :_..4]
74, g @ g & gt i i gfe % A e
T e T ST R HE I
i o
(€IT) (AT =1 GTH)
A 2 1. oTcreer IR fist
B, FEEAT 2. ITRAET INT et
\C. HYET l'i yfieeft otk fremr
D. =l g?) YA I TRt
o™
+e ¢ i
s N
A B C D
(a) 4 1 2 3 %%%
® 2 3 1 4
(c) 4 1 3 2
@ 2 4 1 3
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75.

76.

Wil

\)df Mekong river i

78.

the
ith respect to
Consider the following statements with resp

climate of Western Europe . all months.
Western Europe receives rainfall in a

: belt of
2. Western Europe is located 1n the

Westerlies. X
‘ ec
Which of the above statements is/are cOrT

(@) Bothland2 (b) Neither 1 nor 2

() Only! Mly 2

: : ¢ them
Consider the following 1 ns and a.rrangt'on !
in correct order frgm West to East By their location ©
1. Karakoram — Pontic

3. Hindu Kush 4,  Zagros
Select the correct answer [ftom the codes given below :
&?/2,4,3,1 ) 2,3,4,1 \<

4,2,3,1 d 4,1,2,3 EE
(© ()>< ’“gg

Which one of the following pairs (R_i\ie_g_—_Direction)_

75.

76.

J7.

-

orrectly matched ?

(@) Amur river — North-E3
(®) SyrDarya -

-

North-West

frm iR
1, e o A o

W@mﬁm%mﬁw

2. ﬁw@vwwﬁsﬁmgz
SHFEHAPATA T TN RE
(a) 13M23m (b) :f?l\flqaz
() ad | d) Fa,
ﬁm%{f@ﬁqé?ﬁmﬁaneﬁﬁqﬁmﬁ_\_
Wqﬁﬂﬂ%@@ﬂémﬁ%ﬁ
1w D2 i
3. 4 i
:ﬁ%rﬁmw%ﬂﬁ%&wgﬁq

@ 2431 ) 2,34

(¢) Angara river — North

South—West

Which  one  of ¢ following pai
(Country - Ol field) j @. trectly matched 9

() Iran = HafiK g
(b) Kuwait ~ Kashagan
£) Saudi Arabia  _ Dhahran
(d) Iraq = Zubair
79.  Consider the following Statements it refere L
Mediterranean climate - e to
k%, grccteive's rainfall in winey seasop,
3 ue to winter solstice, yiy res :
the South. PRI belt *hift o
Which of the above Statements jg/are Correct 9
(@) Only2 (b) Neither | nor 2
. AN (7 T
Cae

© 4,231 d) 4,1,23
Frfefaa 3wt (& ok et v figy
e gAfTd TET R 2
(@ LT - Iwu

—b) e - sueafeg
() I R_ IW
(d) AT TR RN ahoafrw

)
FrefReR gt - S a3
T 29

(a) ﬁ(l'—l’ - 3%'33‘6
O S R
© ThwEm - g
@) T ﬁ‘at
RNRSEIN o)

¥ e s =
(©) 2 (®) Far)
---------- 1 (d 13w
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11C .
With refere” . 2024, which of the following

AP
place " _—orrect ?

TPQ statemcﬂfs:)k place in Gadchiroli  district of
0
1. ;’ﬂh;msmm.
The operation was launched by BSF and
,(2. e Reserve Guards.
answer from the codes given below :

Select the correct .
(b)

(a) Oﬂ]yz

/(c)/ only !

Neither 1 nor 2

(d) Bothland?2

81.
B1 With reference oﬁwarc developed by

ISRO, which of the following statements is/are

correct ?
1 Itisa path-breaking feat by Vikram Sarabhai

Space Centre.

2. Inpitial aerodynamic design of space vehicles
requires evaluation of large number of
configurations.

Select the comrect answer from the codes given below :

(a) Only2 (b) Neither 1 nor 2

() Oyl /@)/]30th 1and 2

Given below are two statéments, one is labelled as
Assertion (A) and the other as Reason (R).

- Assertion (A) : In April 2024, India delivered the

-
BrahMos Supersonic Cruise Missile t

Reasn (R) : The Missile has a range of
490 kilometreg,

S
Select the correct answer from the codes given below :

@) Both (4) and (R) are true, but (R) is nof the
Correct explanation of (A). @&%

(®) (4)is false, but (R) is true. -

() Botp (A) and (R) are true and (R)'is the correct
“Xplanation of (A).

/(df Wis true, but (R) is false.

Y

\%' i-Maoi i
= to the Anti- aoist operation that took | 80.
80.

82.

D.STF-1-23

aﬁazomﬁgqmsﬂaﬁ-ﬁﬁ%ﬁafm’tmé?ﬁ‘fﬁ

frefifad & & ST FoT T /8 ?

1. g wewrg ¥ mgfdett e # gor T |

2. g st BSF Ghuaus) v ffgw fod
& g foRar T o |

A9 o g e F & wft I AT
(a) Had2 (b) AA1TE2
© Faai (d) 1323

a0 g fofira “PraVaHa” @iF2aat F g |

ﬁwﬁfﬁaﬁﬁf@aﬁmm/ém%ﬁ%/%?
1. 78 famm e stafe % At sl et
H gf)
2. siaer e 3 i e e % g
< wEat 3 o S qeaiehT 1 STTERaERaT gt
:H
et faw e e 7 & Wt ST
(@) FaA2 (b) FA1T8E2
(© Fadl d) 1323
Y
g;
= 31 e feg g €, 9 & w1 i (A) @
TE I I (R) a1 TR |
ARrRe (A) €31 2024 F W Y Rrcfdfia 1 s
gueEfen et TSt Ser 6 |
THRT (R) : forenger < wrer gmar 490 frerdfier )
Frer R e o A Wt S
(@) (A) T (R) 3T & &, fog (R), (A) Fr &
ST T8 AT R |
r_,,,‘
(b) (A)W%;%(R)Hﬁ%l %ﬁ%
' N .
© (A) TR W T E R (R), (A) B TR
sama?(tggﬁ

d) AWEAE FFgR) TR
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Rl =

84.

85.

86.

%.

(@) Only2
St 1 and 2
y/ Only 1 d B As
™
e OV for
With reference to “Moblhtyiz\ﬂﬂﬂ
Talented Early-professionals S¢heme -
i is/are correct ?
which of the following statcmcm_s_!s,gtj____..

1. This is a bilateral framework between India and
Australia.

2. In this scheme Indian graduates (aged
18 — 30) with knowledge and skills in specific
fields of study will be offered to live and work
in Australia for up to two years.

Select the correct answer from the codes given below : -

(@ Only2 (b) Neither 1 nor2
Only 1 (d) Bé6thi1 and 2

"
™M
With reference to the Internationdl Conference on

Memorial and

imq Peace .
ima (ements 8/ar

: to the “Koh
With reference llowing sta

Eco-Park” which of the fo
correct 7

held on
I. Its inauguration programme was
g™h March, 2024 at Kohima.
Korea.
It will be developed by South o

iven
Select the correct answer from the codes €1
(b) Ngither 1 nor 2

Nuclear Security (ICONS —2024), which of the
following statements is/are correct ?

1. This conference was held on 25™ May, 2024.

2. India has recently reconstituted an
inter-ministerial Counter Nuclear Smuggling
Team (CNST) to strengthen the nuclear security.

Select the correct answer from the codes given below :

(a) Only2 (b) Neither 1 nor2

(¢) Only1 @y Birland2 E4E
I~ S

T ——
With reference to the \“PifiiliLao — Paise Pao’,

campaign, which of the follownhg Tstatements is/
correct ? e

are

- O\
1. This is related to reduce forest fires and to
provide a source of income to villagers,

2. The Chief Minister of Uttarakhand launched
this campaign.

Select the correct answer from the codes given below :

(a) Only2 (b) ither 1 nor 2
' Both 1 and 2

83.

84.

p—

85.

86.

. g /amgﬁ%/%?
ﬁﬁaﬁ;; WW g T,
i mmﬂml

| e FEa
' R R CIRCAL

i

AT
J-arE
qfipstraedt S R .a? fer
T (MATES), % &t
FA L /R ?

i %maﬂta@ﬁ:{maﬁﬁaﬂ

2. e i s % R &
et s Tt (18 /303
% SR # A
St |

3 g o & e ST

(@ w2 (b) T

© el (d) 1¢

I T W FRGT T |

g A EfReed e s-aA =

1. g T 25 1S, 2024 T AT
2.%33@%&&@@%{&13

Teh A=A 3

e R R | T
AT e & v g
(a) a2 ‘ ®) T
© w1 @ 1

.‘%W-ﬁ%mﬂ*w&aﬂ*

R o
mmﬁwél -

;%f%q g.g%Wﬁsqaﬁ
TOHE T dy

(a) %3?{2 mﬂ'ﬁq;

©) Fa=- ®) 3
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RIERI
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(CNST)7

=

e

i@

4 e 10 ‘‘Nepal — India__International
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ey
-
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= _ 87.
With rCfcrcclaVc’2024 , Which of the following

.. Con
Sanskrit i/arc correct 7

statemcﬂ‘:s ‘IC 1d at New DelhiX
1 It W

. - ghree-d conclave was organised by the
2. m-sAnuS"‘"dhan Pratisthan.
il ;
N rect answer from the codes given below :

I
Select the (b) Neither 1 nor 2

ly 2
gn;l (d) Both1land2
(c) On

Wity reference to LunarPolar Exploration | gg

Mission” (LUPEX), which of the following

staternents js/are correct ?

1. This is a0 India — Japan partnership for their
. i moon mission which shall be launched in
the futur®.

JAXA is responsible for developing the lander
for the mission, while ISRO is handling the

rover and launch vehicle.

9

Select the correct answer from the codes given below :
(a) Ounly2 (b) Neither 1 nor 2
(c) Onlyl (d” Both 1 and 2

89.
With reference to ‘‘Guidelines for Elimination of

Corporal Punishment’> (GECP), which of the
following statemen
1, The Tamil Nadu School Education Department |

A issued these guidelines on 26™ April, 2024.

These guidelines are focussed on safeguarding
the physical and mental well-being of students.

Select the correct answer from the codes given below :
Only 2 (b) Neither 1 nor2
() Ouy] d2  E48
(d) Bothlan ﬁ%

With reference ¢, which of the following
statements is/are corrbor 7 '
L.

Iti i
tisa hewly launched airline in India.

. inaugurg] flight took off from Manohar

Htemational Ail’pOI’t on 18th March, 2024
Select the

¢ . :
Omrect answer from the codes given below

@ o
T2 (b) Neither 1 nor 2

90.

-——

: D.STF-1-23
YA -9 St dehq GEeH - 20247 %
T i freffae § @ Ao wr w378 7
1. wg s foeeht o smaifora fomam mam am )

2. g di-Radir g i sgdum sfee g
arenfra foram mar o)

3 g e gz & v s 0

(a) a2 (b) TA1THN2

(©) el | (d) 1323

T T, i free (o) & owed |

=t # & A Fmad 272 2

I 7% Wi — S % s wge 9 e @ fag
agrer) 3, St wikrer # wif=r fre s |

2. JAXA fmm ¥ fu dex fefia +9 F g
.W%,W%ISRoﬁmaﬁtaﬁamaﬁ
ERIGRG S

3 Ru e it & et s e

@ Fw2 b) TA1TH2

© a1 @ 13f2dEt

“\’TT(T&EFT@ S 3 fre Rean-R&ar (GECP) &

# frefafad § @ FR-TA TR ER 3 2

1. 26 319, 2024 T afireTg Thet e o 3 4
ferm-frrdar st ok

2. A Ren-fdw ol % Wil R TR @
I G R HEAE |

ﬁ%ﬁﬂmﬁﬁ%aﬁmgﬁq:

(a). Fad 2 (®) FA1TH2

(c) %a%al (d) 13R23M

o1 (FLYOU) ¥ ok i Frefuf #

T T TR 2
[ o I R o T T R R |
o wEdhl WEEl SSW 18 W, 2024 W WA

S T STgE A E g |
;ﬁ%ﬁqm{?ﬁﬁﬂﬁﬁ(ﬁ:
(a) FC2 (b) TM1TE2
(© &l (@ 1323

_______
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91.

92.

93.

94.

o 12,34

the correct
Match List-I with List-II and choosé

answer using the codes given b:};:‘:lt;‘e lists -
}J}i(syt';zlna Name) (Date of Launch)
A. Pradhan Mantri Awas 1. May, 2016
jana — Gramin
B. ;i:lnfgcnvanG I\r/i‘i::ilon 2. October, 2014
C. Swachh Bharat 3. A“g;“St’ 2019
ission — Gramin e
D. PrghanMantii 4. Noveliber, 2016
Ujjwala Yojana iy
Codes :
A B C D
_Aa) 301 4
4 3 2 1
© 1 2 3 4 %
@ 3 4 1 2 "
Which indicators are used in Human Development
Index (HDI) ? [Lr’
1.  Income level 4
7. Education ('E—
3. Condition of environmentX :LL/ ; E
4.  Life expectancy Fe's

%

Select the correct answer from the cod'é"s"'% given below :
(@ Only1,2and3X (b) OnlyTénd4X

\()/Only 1,2and4  (d) Only'1and2

Arrange the following schemes launched by the
Government of India in chronological order and

choose the correct answer from the codes given
below :

1.  Swachh Bharat Mission ) 9
2. Pradhan Mantri Kaushal Vikas Yojana
3. Pradhan Mantri Garib Kalyan;Yojana

4. Pradhan Mantri Mahila Shakti Kendra Scheme
Codes : PRI

(@ 2,1,4,3

d 3, 1,!2,%4

4]
Malthus argued that the population grows in a
progression, while agricultural production/food
supply grows in a progression.

From the following options, choose the correct
answer to fill in the blanks :

(a), Linear, Exponential
Exponential, Linear

(c) ithmetic, Geometric
Geometric, Arithmetic

m@*‘“’mﬁgﬁ ’Pﬁ
w1 , @
(@1 T, _gmfior 1w,
. s ST A 2.
p, AT w3
C. ﬁ?@mﬁm;hﬂ 4 7
p, A I
FT D
® B C .
> 14 6.
(a) 2 3 1
0 4 3 2
3 4
@ 1 2 a5
@ 3 4 ! ‘
S ForT ST € ?
. AT
2. Tmem ‘
3. uataor el feafa
4 Gl Shad STafe ar g
A Ry e # & e ST :
@ Fa@l, 233 (b)) Fa« 13wy
() F1,234 () Faet 1 30
Ad TR 50 T i 15 =i 3
TR =t <hiforg ofte A R
Wgﬁq;
1. =3 9Rd figm
2. S i fere Ay
3. U e e Aoy
@@ 2,1,4,3
L ®) 4,2,1,3
© 1,2,3,4 @ 3124
Wﬁﬁﬁm% .
ﬁaﬁ‘qﬁm —_ W
ﬁw%@aﬁmffg?%"ﬁ?ﬁ@\.mﬁ
ST T T o

~———
-
-
‘‘‘‘‘‘
o
-----
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97.

2.

omic Survey, 2022 _
he ECODO 23, what
Accordiﬂgcif) reSPOnset :igeﬂsg g(rilc:,\::;rcllm?nt of Indiy
fiscal PO; lin response \%‘_Eply
: '7 food and fertiliser subsidieg .—

T Dot s on fuel and imported products—
" xes on fuel and certain oo

%g%

95.

ot answer from the codes given below :
: (b) Only I .

(d) None of the aboye

4l List-II and choose
Match List ﬂ;zlg:)dcs given below the lisltlgcz N
answer Us" List-II
(Beneﬁciary )
Contribution)
Beneficiary’s
choice

96.

List-I g
(Social S 4,
P,.og,-amme) .

¢han Mantri Shram

Vogi Masn-Dhan Yojana
odhan Mantri Jeevan T55-%200
Jyoti Bima Yojana per month
Pradhan Mantn Suraksfia 3. ¥ 436 per year
Bima Yojana )
D. AtalPension Yojan

Codes:

@ 2 3 4 1X !ﬁ%ﬁ

(®) :
1

@ 3
Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (X) : Development is being defined as

improving living standards and welfare.

Reason By Growth in per capita income is not a
sufficient measure of development.

Select the correct answer from the codes given
below :

\/@/ Both (A) and (R) are true and (R) is the correct
Kplanation of (A).
(b)  (A)is false, put (R) is true.
(©) Both (4) ang (R) are true, but (R) is nof the
& cOIT.ect explanation of (A). |
@is true, but (R) is false.
Whic
the Sug

o 2k

o w »

4. %20 per year

r:f ¢ducation free and compulsory §
. rac;;lg -ba.lsic school infrastructure

E nSiog dlgltal. transformation

Inere inn _Of agricultural programme

c°rreg Investment in technology -
Lang ta0swer from the codes given beloW -

Sel

>(b) 1,2,3and 4

9s.

96.

97,

98.

h
tZl.easures are_essential to achicvf i
Inable Development Targets, 2030

= D.STF-1-23
I wFeor, 2020 - 23 ¥ ey Afrw
ST % SraTer & A TR T F-E TR
ﬁuﬁfﬁmmﬂm
L e o der wfw i wh e
2. 3u 3R i Searet Ot R S
%%ﬁémaﬁtgmﬁamwwmm
T I :
(a) %Fx?raT; il (gﬁgﬁal
© w2 (d) Iwfwa i & g e
Tell-1 0 gein & e A 3 gfndt % 99 o
W?W%WT@TW@Q h
=1 11
(HTHIIST GRaT H159) (fearterhral/amaneff =
12
A gaEEh o afraeag 1. fRarfiredyerardi f
AT ) AR
B. Jumr e Saifa s 2. 552200
AT J RICRIGS
C. el e sfimn 3. T436fdad
ST
D. 37 Uy QAT 4. #209faad
&e
A B C D -
(@ 2 3 4 1 ‘E{]‘Eﬁz
® 2 4 1 3
€ 1 2 3 4
@ 3 2 ™ 4
i 2 e g e 3, ord & o &t e (A) qu
THU T hIT (R) 1 TR | |
W(A):ﬁ?fgﬁaﬁaﬁwaﬁtwﬁaﬁ
3 & TR forar ST & |

W%T(R) : e sty o & i feepra 4 watw w
TTl ‘

Hi g e e # @ e s
(@) (A) T (R) [ & & IR (R), (A)-H &
T FHFET R

(b) (&) T, g ®) FR

© (A) @ (R) 3H & &, f6g (R), (&) T &
AT TET AT 2 |

@ ()T g R R

Haq e @&, 2030 § TR 4 TN FW 6 U

FI-TT/A I A /8 2

. R e i fEd s |

). T % AR e H g o feforeet afeda
! ST

4 SR Rewd g

e e ST

(@ 132 () 1,2,3 34

© ¥l @ L2¥Rs
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L ‘e N A T il e p—

),
. T A3y,
19% FFaid AT AR W
S e ST J ?
2 ) ” ﬁ%w ﬁ"”méh? . ik which |
o 'hi he following fr‘f'cdomsnlicc 9? ithout @ r@’:T @ilafl 3 i '.‘04 ices
99.  Which of the -tion u‘,1dcr/\ and With b) grfd T - TR Y gy dev
by the Indian Consti o-peaceft I ( %ﬁgﬁ'ﬂgﬂ N =, @
(a) Freedom to assemble 4 dispose of © T e 3T EECIEEIEICE o M
\ . ar ia'—)ﬁl ¢
F'::csdom to own, 2equir ! @ ﬁ"lﬂﬂ:%, o & T :qﬁﬁ ©) M

try el
it the coun ikl e _
roug];o‘:mfcsswﬂ 100. zgy @ A (R) ET T >

de o is jabelled s N A),: PG aGEé‘mulqmaﬂHR’os. The ¢
100, Given below ar o ST CL@), o o 7 T TR nonvs
Assertion (A) and “]C‘m]:fr,{:s 10 the Con.sulu“o" the E—?ﬂﬁ:ﬁf’faﬂ'{m I & e (@ F
Assertion (A) : According function as R EGIR] wfaa 3] ST s \);/F

ndia. the same person cannot R) :

tates at the 5“"83 ot m%ﬁﬁmm%m@ v- Eﬁmo& Whick

property T 4
(c) Freedom to move freely :]rl'\
(d) Freedom to practisc any 1r¢

" f two or more S - wstitution . W
SS;E;T:OIRO) l:‘ ‘Xv:irc;c 153 of the lndnanc 10101' State. :ﬁﬁﬁqﬂqf‘ﬁaﬁ% Y S betwe
states that there shall be a Governot {;og ((:odcs given (A) aa1 (R) AT ’ ia"! (R)
Select the correct answer from th @ me%l adi 2 2 |
below : is not the e B, fEFr?fq (R) |
@) Both (A) and (R) arg.true, but ®) ) O e (), @t T & Sy
’/.corrcct cxp]anaticl){n) Of{Al (©) A) s © N ) \()/
bY  (A)is false, but (R) 18 ITuc. ; ct
YO Bath (A) nd (1) are o and () s the 2075 @ (@@ FIERT 2 07. Whic
explanation of (A). s . ’ e & e true
(@ (A)is trae, but (R)is false. (no Yorectly | 101 e & 4 13 T e E%:;n (a)
101. Which one of the follown‘igjpalrs i @ Ryfer & wHe - LERIts
matched ? | ittt b o fag ghfia 6
, @ Equiiybefoe - Qurmeedtobolh 47 B gy gmwwman Y
. La citizens .
57 6 0 v non-citizex(lis ot STFET T FHTAT %Qﬁﬁr%% ©
i : — Guaranteed only to » St TT TS _ Tge
Lﬁ 3- e 'Of' ic Indian citizens d © g il ﬁ'fﬂﬁ‘ﬁ
opportunity in public  In T T @
e employment - ! :
() I:‘\ting a new State— Power of Parliament (@ TSI HTE - ST foame8.  Give
Mfeﬁng the name of — Power of a State qed T AsS
a State Legislature 102. G-I H G-I & gl AT R gfE  Ass
102. Match List-I and List-II ignd choose the correct T wﬁnwﬁ%ﬁwaﬁq - diss
answer from the codes given below the lists : T ST , Res
List-1 = List-II -l @ ¢
A. Consolidated Fund of India 1. Article 266 A. WRa St dfea fifr 1. ¥ oo
B. Finance Commissiom—~<__~Z. Article 360 B. fagmanr 2. I dio:
C. Financial Emergency—""""~3. Article 280 C. g surqester b Sels
D. Comptroller and Audito‘ij“i 4. Article 148 ) . . 3. %
General of India ™ - D. W%ﬁ'ﬂﬁqa 4, I \/Ca’)/
Codes : mqﬁ&}%
A B C D FT ib)
@ 3 1 2 4 A )
by~4 1 3 2 @ 3 ‘13 C D
1 3 2 4 2 4
@ 1 2 3 4 ?’g 4 1 3, @
: . , 9. Wi
103. Which of the following are envisa : g 1 3 2 4 1
\,\ v C against Exploitatjon in the Constitulligoen Ofyh::]]ie !}{“gm @ 2 3 4 De
{j,/,;k .  Abolition of untouchability —=2L 103, Yrefy “%Wﬁ M) the
& (/ 2. Prohibition of huma traffickinp ' ﬁt{%ﬁ\@ﬁﬁ . % ﬁ:l'@ Silﬁm 1
labour and forceq RRAIA G R

3.  Prohibition of em
factories and mines

1
2 ice)
4.  Protection of interests of 3. ‘?.'E aﬁ-{ W TH H ﬁﬁﬂ 2.
Seleet the correct answer from the codes pj 4. : ‘ .
\/({‘2 and 3 (b) 3 andis given beloy - S Wﬁ%%{-ﬁ N S

ployment of children i,

inorities FIEHY AR TE T3 zﬁqﬁ‘dﬁ*
\ <t Tea
...... AR TP e

——

..............
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Yy = - '
~ } s oS -
? §,§ ‘N&:‘. s sk | i
) & ! E
HH, o . O) 1 ~ LT
‘%“\"ﬁﬁm ' joa. Which O of the following groups hay 2z &
ﬁ% device$ ¢ only in “ e
F ) (@ Mous® Keyboard, Printer POt 104, Arsfan o
, ; 10USC Keyboard, Project T . D.STF-1-23
af % 2))) 11\\431156, Keyboard, Moni:O(rn:(( E%‘i %E"W)% :t@ # 3 foreit Shaer ST ST (TGS
T {4}3& ‘/(,j»)/Mousc, Keyboard, Scanner ' EZ; wew, fr-ars. fie h
oy 105 The qnteat Of computyr—m W, A, e
LY ile, even Wi I ema : (c . E4E
N M:} %c even when 1;;)%011 is ( d; :‘;: 2$Iﬁ—_ﬁa é%&
ST 153, | o % M 10s. , IS, T
T ROM @ N TIN5 7 7
aTITI %3\ ]06- \VhiCh of the fOHO\Ving - zl‘lc .oflhc abOVC Eﬁﬁq’( "ﬂ mﬁaﬁqﬁﬁﬁ#—m e % \_rh ﬁm W aTﬁTa
[ (R) between Fahrcnhcit (°F) and Cc]siﬁ:_z:c’g. relationsh; @ REM m% ! )
Wy, op= 2OF +32 o ) degecs 7 1 ) RoM i
R 3 ® C="F-273.5 " Wﬁammm jo) et d e
(s §_%oc+ P et a7 CRy T afeeTE (°C
:‘\f (C F, —5. 32 (d) OF = oc 27 (a) OC 90 % ? )
N —273-15 =< F+32
555 107. Which of the followi 5 b) °C=°F-
-g;{qa?%“ true ? (‘, wing Statements is (n > (C) OF =90 iRt
TR, (a) Chromosomes are com - 5 €32 (@ op = 9C
ff‘ﬁ PRl PI'OtCiﬂ. POSed of D 107, ﬁ'ﬂ%ﬁqﬁ " —273-15
X T ; NA and § 4 A e
;? Nucleus o_fa cell does not pla . g (a) m & Wiﬁﬁ‘f% ?
T reproduction. yaroleinc AT q O N
\ © Cir ‘ ellular (b) e SR FEd |
= Chromosomes contain i foa & ¥ PR
( inheritance. information  for ( ey [ERIEC/eEEC RS
2 d) FunCﬁO]lal segme : C) a-ﬁ'lﬁ@rq‘ : N ’;
S Y y nt of DNA j Gafai & -
G5 108 Givenlcow ar two sitement s called genes. SRR Gl < sho iyl
e sertion (A) and th s, one is lab 108. =< hie Wléaa‘r:-ﬁqm
e e other elled FT ol g
1y CXiH Assertion (A) : CO as Reason (R) as E’H’(ﬁ ﬁQTTQ %, ﬁﬂﬁ 'g'@# |
dissolved in rain \.’Vate 7 i;l dSO2 and N02 gases ;T&EE PR (R) WW% | (A) T
gt Reason (R) : Atm ¢ produce acid rain get R (A) : CO,. SO, 3K
=l concentrafi ospheric air is pol : STt & i oty 2> SOy AL NO, A st .
el One fion of gases i polluted due to high T I T a?fftaa
313{@&743& dioxide and oxides of rslitrlke carbon dioxide Sulphir HRUT (R) : FE SEIAEHRES, 2
gl Selegtthe o ogen. ’ Mg & 3 , HEH STEATHIES
=l ‘_/(j;ﬂ] rrect answer from the ¢ ; i RS et Tt = @ -
AT oth (A) and (R odes given below : EIREERIREIR B HEREIG] izl & SR
explanatio (R) are true and (R) is th ' = R g 2 ¥
®) ()is " Of(A). s AL 4 g
e ) and (R) are true, but (R) i AT HFAIR | R), (A) FI w&
109 @ (&) tr‘;"I’lanation of (A) ’ (R) is not the Eb) (A) TR, %(R)Eﬁ%l
" e . : AN
. With Teferen »but (R) is false. 9 (I.{) ?ﬁi}fg‘gﬁ g, T
€ to the 70 [ndi T EE Rl ([R), (A) & @
e d the fg,, PeT2ion Co India — Indonesia_Joint @ (AT R s
5 ing stater .mmlttee meeting, which of 109. 7dt W_% ,(R)W%I
; n thig s ents is/are correct 2— i i Y & T iy
Collghg,pr N8 Indonesi i frefofed § 8 A AT 5
Oration : onesia HH-HA
o Otation i agreed to enhance 1 S 1 3 ERERHRI
L tim the are - . §0 e § S ?
2w Besecyri as of defence, indus 1
=1 ThlS llnty ’ try, T, m 'g’q]-ﬁ
{ Meet; and multilateral i agqaﬁ‘a TET & & | > Sl T 3R
\ May 5 cling vy cooperation. ; ¥ geam Ten
?e)lect the c(; 2024, as held at Jakarta On — éal?sﬁ » T TR
a ITe . 5
Onl Ct answ. , 2024 Qﬁgﬁmﬂf :
) ""---~-.(.°)..._0n1y2 swer from the codes given below : = R e 7 4 vt Sw gy .ﬁ SR s |
' L ‘g?)/Neither 1 nor 2 (@) A2 (b) ' 5
------------ Both 1 and 2(02%??*[1 @ TWITE2
-t D LRI

-
.
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which of the

Be |

ok »

110. With reference 10
following statements 157¢ correct i
1. This is India’s first indigenous bon

aircraft.

2. lts payload capacity i 1

Select the correct answer from !

(a) Only2 (b)

(¢) Only!l a

With reference to “ln‘dia—/\uslrahﬂ
Co-operation and Trade’ Agreement
ECTA),” which of the following statemen
correct ? M

1.  Thisisa first-of-its-kind initiative of FTAS.

2. The meeting was attended by the Commerce

Secretary of India, Shri Sunil Barthwal.
given below

r“UAV”

00 kes-
he codes 8!

Fconomic

(Ind - Aus
ts is/arc

111

Select the correct answer using the codes

(2) Only2 (b) Neither 1 nor 2
() Only1l \}g)/ Both 1 and 2
112, Match List-I with List-Il and choose the correct
answer using the codes given below the lists :
List-1 List-IT
(Joi_nt Exercise) ‘ (Dates)

A India — Uzbekistarl Joint /! February
Military Exercise,’ ' 19-27,
“DUSTLIK” .. 2024

B. India - France Joint Military/ 2. May 13 — 26
Exercise, “SHAKTI” 2024 ,

C. Hz%rbour phase of Indo —0S 3. April
J ox'nt Exercise, Tiger 15-28
Triumph, 2024 2004

D. MILAN, 2024 4. March

Codes : A 18-25,2024

A B [C
@ 3 4 [1 g E%%
W3 2 |4k =
© 4 2 |44y
@ 2 3 VA
113.  With reference t() “Shaksg N
. Shaks ()
following statements ;. arcgi?rr\e’ﬂllf)’ » Which of the
1. Thi i
of }’sa‘l?"ey 3 stralegic key g i ;
2. Indi istan-occupied Kaghyyi (% Olgthﬂt L
+ India has g %),
. ged
infrastructura] dey Protest  agaj
. el galnst
by China in thig Va“eopment bemg Carried .

111.

112.

113,

@13,
1 323y

Ind -

;?ﬁ-mféma‘sﬁ%/%?

| g FTA (@AT) ¥ ¢ 3T 5 p
AR ;

2. oHH o 3 atore |t At
r fera |

iy fog T 2 7 & ) SR AT

(@ FEE2 (b) A 1TH

© Fal (d) 1323\

g1 3 -1 & iR <R s g,

7 e T ST L He ST - 6.
Telt-1 )

WA — ISR U 8 1. Wt

I, “TERfTH” 2024

(DUSTLIK) -

T — T

i HEI) A, 2. 7§ 13-

I — W T NHT T 3. o

T A HATH, TR ¢V 2024
(Tiger Triumph), 2024 7
HENSI)

A

e (MILAN), 2024 4. 99 13-

2024 &
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A

Ty

gﬁm 15,
Tw%%

TN

26, 201

25,

'Mg.\

llowing schemes Jay,
Off(3 India in ched

th cl . b
e 1Ironolo Y the
Arrang® 1cal ordey
Govemn:]fc correct ANSWEr from ~the es giind
choos€ ¢n

pelow : galcd Rural Development Progmmmc 1
lnt‘t‘-m jay“"ﬁ Gram Swarozgar Yojana A
S“gonﬁl Rural Employment Guarane,

pradhan Mantri Jan-Dhan Yojang
rd

\}Cﬂ’%dcf:ﬂﬂ o 341
’ ’41

)y 2 D¢,
© 23% @ 431’2'>(
C ] :
¢ to Economic m ;
With rCfcrctlaltccmcms is/are corte Which op the

following §
omyX

114

T

=

Acl,’{"

Q

1. Indian EcOnOMY is an l‘.]l}dCI'dCVCIOI)cd Econ
2. Indian Economy is & Mixed Economy,—

3. 1M, Keynes is the Father of Economicg,
Sélect the corect answer from the codeg
@ Onlyl and 2 are correct. 2

: o)
XC) Only 118 correct.

(d),~Only 2and 3 are correct. — 1 b’

116. Given below are two statements, one ig labelleqd as
Assertion (A) and the other as Reason [R).
Assertion () : The value of _patj
determined by demand and supply of foreign
currency is called flexible exchange rate,

AR}son (R) : Demand and supply of the foreign
urrency is being determined by the Central Bank.

Select the correct answer from the codes given below :

(@) Both(A)and (R) are true and (R) is the correct
explanation of (A). '

(b) _ (A)is false, but (R) is true.
Both (A) eind (R) are true, but (R) is not the
comect explanation of (A).

@) (A)is true, put (R) is fa(llsz:. s

7. wi i i follo
evéttllltsfeference to India, consider the following

1. Nationalisation of Banks | 9 )

given beloy .

Adopti

chof o1 of villages by Bank Branches
taken t achieea P events can be considered as steps
(@) o 2a;f1 3an&“0131 inclusion in India”?

T,2and 3
© Only1gg, M L2an 2011

8. Wity Teferep (d) Only3

Which of ;' ©0 “National Food Security Act”,
L1 will :of:,) OWing statements are correct ?

2, 1Paion " UP 10 75% rural, and 50% urban
) S Spec- .
K(\)VI::H anqd é;lildfrzc;;s on nutritional support to
Morsdon pyy 5 2010

3.
COdes :

(b) 1 and 3 are correct.
and 2 are correct.

FOYIna}ioggf Regional Rural Banks ) 99 £

D.STF-1-23

ST B S Y é Bt el <)
e s o S R § 3

115,

U At sefemen
O i sroferren 3
AT S ¥ |

l. It S
2. I s
3. Nuw. g
ﬁﬁ@q?ﬁﬁmmiﬁu:
@ % 1 sk 3

®)  Fer 3wy

©) et 1w

d) Fa2 3 a3

116. ﬁawﬁqm%ﬁﬁ&@aﬁaﬁm(mw

E@‘tﬁm(R)aﬁrw%I

SHT (A) : T 1 1 7 e e
meﬁﬁmm;ﬁm%,aﬂﬁﬁﬁwa%%
W(R):ﬁ%?ﬁﬂabi‘?r

W 3R S Feh
Pt aidta) o - B
ﬁﬁ?m*@ﬁﬁmﬁﬁq:
® o S & s @), ()
AT e 3
(A)W%,Mﬁ(mm;%l
(A) T (R) M1 W §, R), (A) Fi
i g ®, ) Fr @
(A) T8, f5g (R) e 3
Wﬁ,ﬁq%i@amaﬁwﬁwﬁﬁm;
SRt AT TSRy
SERPIELECIE BIre
ook YrEs aTaat A e Sw
TRa T Rt wre
T SR < o0 SaTamapa shest wvn s e 2 9
FAA2 33 (VY (b)
¢) FAAIIM2 M (d) ¥a@3
T er e b e 4 freffas 4
PR FE e OV
1. & 75% J0T AR 50% el Srreiee e freric

I |
2. i Al AN T S gy w ok

o
=

(b)
©

(d)
W
1.

117.

118.

e fEr T R |
3. @5 IS, 2010 W AW R o
4 :mﬁtaaﬁl (b) 133w
(3 L2 (@) 1show
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119. Given below arc
Assertion (A) and

Assertion (A) : TI

between Human Deve
Sustainable Development U0

Indian States.

~ Reason (R) : The underlying o g
\_targets arc closely related to education

aspects.
Select the correct
(a) Both (A) and

two statementS, s?)?i ®)-
the other @ 3
ere is 8 P

e 1S labelled as

" relationstiP
ositive T4 the

Jopment In ;{;Gs) ranking ©

answer from the ¢
(R) are truc,

correct explanation

(b).. (A)is false, but (R) is true.

\/(é‘)/ Both (A) and (R) are tru¢ 4

explanation of (A)

.

, .« of SD
dnncns:onsnd health

odes given below
put (R) is not the
of (A):

nd (R) is the correct

(d) (A)is true, but (R) istj:;llsc.

120. List-I contains the namlf%: 0
List-II shows the Rank as temittan
Match List-I \Yiﬂj List-

f countrics, whereas
ces received in the
II and choose the

ye
correct answer using the codes given below the lists -
List-I (List-11
(Country) (Rank)
A. Mexico 1. First
B. China / 2. Second
C. India 3. Third
D. Philippines 4. Fourth
Codes : '
A B C
@ 4 1 2 3w
\)_bj/l 2 3 1 &h
© 3 4 2 {
@ 1 2 3 4.

Ry, '

121. M st with ListII o
! n:tCh Ll.St-[ with List-Il and choose the
wer using the codes given below the lists - o

List-I
(State)

List-IT

(Rank according to expendityre

on infrastructure J079 — 23)

A. Maharashtra . First
B. Uttar Prades¥/2r. Second
C. TamilNadu 3 i X
D. Kamatak: ‘ Tbmd ; R
a 4. Fourth 2
Codes :
& 1
src T
@,1 2 3 .
\/95{ 2 1 ?! @%g
3 + Stk e,
© 4 1 5 h B
>< D({l) 2 3 ;
_____________________ 4

120.

121.

| :rg; ford (R)
(A) T e, 198 L

(A) @1 (R) aeft el
TG FT & |
(A)H’Ex”f%,ﬁ”ﬁ(R)W%'

@.Iﬁasﬁ%m%,wﬁﬁ@-nﬁ,
oo et g eft 7€ R () 3y
ot & | LT 11 & gAerd i
ﬁmmﬁzmmmaﬁmgﬁq:

Tt
()

TEiel
®) # aft ®)

(©)
(d)

AW N~

4295

B
1
3
4

L

RIS RSNG|
A= b wg

2

@'Iaﬁ@-ﬂﬁgﬁﬁ'ﬁm S g

T g
(2019 — 23 3 3Ky YT

(159)
RIFT T &= 3
WYL K

4393

2
3.
4

~~~~

----
............
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atements, one ;
2 are tWO sta e is ]abclle
Given below) and the other as Reasop, R). d ag
A Atticle 352 ¢ the

gtio? )
ASSC . (A .
gsertio? o deals with the declaratiop,

W Indian

of an
'I
cmergen®y . An emergency may oy pl

ace at any

ctanswer from the codeg
and (R) are true, by
(@) Both cxpla"“tiOI‘ of (A).

ct .
cogfi’f‘q false, but (R) is true.

(b) Both (A) and (R) are true

given beloy :
(R) is oy (e

planation Of (A).
} (c;[)»li;:nt;’uc, but (R) is false.
(@ }

p of the following = statements

and (R) g the correct

: are correct
B Whlcdinc JCT based e-Governance ?
egarding
reg o.Governance_reduces _the transparency of

;_—e-Governance reduces the cost of Government.
;:/e-GO\'Cma“CC INCreases - citizens  inpyt into
" Government.
4 e-Governance
red tapism.

increases bureaucratic

Select the correct answer ‘i‘rg;)n/&ec/odes given below -
(8 2and4 2and 3
(c) 1,22nd 3 (d) 2,3and4
. The UPSC derives its functions from which of the
following sources ?
L— The Constitution
2~ Parliamentary Laws Qg‘g
3. /Executive Rules and Orders E%
4.__ Conventions
Select the correct answer from the codes given below :
(2) land2 (b) nd 3
(c) Onlyl (dy"1,2,3and 4
Which one of the following is correctly matched ?
Constitutiona] Body Constitutional
Article
Y2)  Elecgioy Commission 165
148

Nationa| Commission

A
M fqr Scheduled Castes
A Finance Commission

ationa| Commission

for Backwarq Classes
Identify the ¢

following: orrect chronological sequence

263
340

. g;jgﬁaél Prasad vs. Union of India
3, Goly Ingh vs. State of Rajasthan
4, CSavaat vs. State of Punjab

5 "anda Bharatj v State of Kerala .
( 1,4 3 “Ctanswer from the codes given below :

M1y ) 3,2,1,4

|
.
1

394

122,

123,

124,

125.

126.

D.STF-1-23
gammw%ﬁqﬁﬁ@aﬁaﬁwmw
8 3‘3'*TT"T(IR)Ef?amzn‘%|

A) : vy d@fm w5 HT=DT 352
WM%W@W%I
mgm:wmﬁrmsﬁmm‘é

ik
?"@ﬁmwammgﬁq;
a)

(A) @ (R)aﬁuﬁ%,&?\;(m, (A) & adt
S T Far ¥ |

(A era ¥ g () T 2

(A) @1 (Ry) 3t =t & it (), (A) 1 w0
RUSIEGET

@) (A w2, Frg Ry e 2

SR, st dmrfer 3 ey 3 Frforfiaa 3 &
Hiﬁ-ﬁm;ﬁﬁ%?

I RE Ko cc ot S ————

2. 3E & T e A e

3 ﬁ-ﬁqﬁmﬁmﬁaﬁwzﬁfﬁm%m%l
4, é—ﬂaﬁqmﬁmm@rmél
ﬁﬁqqﬂl?ﬁ@fﬁ%ﬁﬁ(ﬂﬁ?:

@ 234 (b) 23k3

(© 1,233 ™
¥ Sl & s
B & - wReg g S 23 o
Lo vl

% Waﬁf{;

3. wESH g otk sy

(b)
(c)

4,

A Reme e # & wd smgfi.

(a) 132 (b) 133

(c) ad | (d 1,2,33R4

Freforfiae & & - o v g 2 o
wiferenfiew P wifenfrs

() Ftert s

165

(b) T S i s - 14

() fo s (. - 263

(d) u@ﬂﬁ@g}a}fm - 340

frrfetfet 3 wet pretrgemm o veam i
[ il ST W Wil gy

2. GoSH g S e teg

3 S ST Uy

4, RIS STl T et T

A faw e e o @ et e g

(@ L,432 b) 3,2,1,4

(C) 1,2, 394
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0,
7 I B % T )
i Year Of 127 o ﬁ fzaffdgﬁm N 1985 \{mg’%g Co
24 ats with thett A 5pat @ire 2. 201 g3t
127. Match the Amendme B. t gigirer 3. 197 t
implementation : 1. 1985 C. 86a-,[ . 4
A, 4274 Amendment 5 2011 D gat @eme - 2002
B. 52" Amendment 3, 1976 :ﬁéﬁ@mfi 78w I ' &
C 86t Amendment 4: 2002 ' A B C D
D. 96" Amendment (he codes given below : 1 3 4 w
Select the correct ansW’[t};rf‘;;" (@) i 3 2 1 @
~a 2 I 3 (f::)) (C) 1 “
® 4 3 2'”4; d 3 1 4 2 C
3
@R o oo g i, B 5
J — TG o 7 ST L He I : s 1.
128. Match List-I with List-Il and chooSC;.t ‘ el - wh 2.
answer using the codes given bclow.the ists % oL AN 3.
List-I List-IT (G A. HEQ;H' HEI dlq l. %m% 4
A. Cooperative Federalism 1. K.C. Wh?are B. Hiearsit @gdreg 2, 3”337}\ Se
B. Bargaining Federalism 2. Ivor Jennings C. o duare e ) i\‘ \}9
C. Quasi Federalism 3. Morris-Jones : ; N
D. Federalism with 4. Granville Austin D. &= ',[ TehT 1 4. R (c
Centralising Tendgncy
Codes ; () FT 133. C
. A B c‘."‘g D A B C D cf
@_2 4 3.1 @@ 2 4 3 1 LW 1.
2 1 40N 3 b) 2 1 4 3 22' 2.
© 4 3 1 3
@ 3 2 4 © 4 > 1 2 : '
129. Which i 9 3 2 y : 37 :
. thre;ct. on;: of the 'foHo‘wmg is(not b level in the | 129. S T Ugar gfyfy Wﬁaﬁ-ﬁﬂw .
ce-tier Panchayati Raj recommended by Balwant ﬂﬁqﬁ’f@ﬂﬁ@aﬁ:{ . i (a
Rai Mehta Committee 9 . -1 O &R T @ 0 (c
(@)  Panchayat Samiti @ vErd wffy v
() Gram Panchaya; — ®) I e 134,
(©)  Zilla Panchagas .. © e vame a
9 Nyaya Paﬂchayag,; @ =y e
~ 130,

130, According to the Lokp)
the I‘,okpal would be]??'

.....
.............

g
Wﬁ‘gﬁw Nl ar=r vt 3 sren
YR Y Ty '
AT 1 3wk g0
%%wﬁ%mﬁw
W’TW%WW%
Fﬁ%‘Wa}% o
Fﬁw‘nﬁﬁwm% g
1 ?§ﬁ§%mﬁq-
33% ®) 2,334
_________________________ @ 1,3 3ik4
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LR .
W Q g%% et he following statements witp, reference to D.STF-1-23
\ d On

jalist Party : 131 "
3l ¢ss SOC1 ™ . FHimg A ) N
! the Cf’rr;ir Congre:s Socialist Party Was formeq " formme A T F gt fefafad wuET W
I 1934. ' 1 ' ..
January - - SHal 1934 F i
Jawaharlal Nehru formally joined thi Party due . Hie dferee aref e foRa
2. 1o his Sympathy for soc1allsm,x 2. a NS it
pich of e above statements is/are correcy o AR e 39 e i T gu |
! : . i
: ) Bofh] and2  (b) Neither 1 nor ST 3 & - o w3 0
a A " ( :
EC) Oilly/ (d) Only2 @ 13R2d ) TdiAE2
: ) Faa #
sider the following events and arrange them jp 1 i (d) FaeT2
0 . . N
. @ cpronologica! o 1 132, Pl amaiy G fereme R qo 378 hrerrR &
i) ¥ qﬁé | Murder of Abul Faz @%% Srafter i ;
& " peath of Sheikh Mubarak G L o7 et o g
| 3: Death of Faizi , a4 2. ﬁ@ﬁﬂﬂiﬁiﬁﬂ jque
%?R’ s Death of Daniyal 3. aﬁﬁ'zﬁﬁ
(éﬁm{ s.elect the correct answer from the codes given below : 4, aﬁma;ﬁﬂ 2\, H ) -
Sy 21,43 b) 3,2,1,4 e e g o # & wet g e )
T 3R y 23,14 d)  2,4,3,1 @ 21,43 () 3214
o © 2314 (d?’2,4,3,1

33, Consider the following events and arrange them in

: chronological order : ) 2 133. ﬁ%@amvﬁwmws%wtr
Yo 1. Linlithgow August Offer ) l" REISLEIS I et
¥} 2. Cripps Mission arrival in India { 94 LJ— 1. fomferent =1 evre v 2
3. Ramgarh Congress Session |9 2 2. Wﬁsmwmwrr%’ )
37 4 Resignation letters of Congress Ministers | ﬂ 3 U‘jﬂ%ﬁﬂﬁaﬁﬁ‘m
, Select the correct answer from the codes given below : 4. mﬂﬁ?ﬁ%mqﬁ 2 4
Rl @ 31,42 ¥ 4,3,1,2 = fw e e & & wE ST
i9/1,3,4,2 X @d 4,2,3,1 (@ 3,142 (b) 4,3,1,2
) 1,3,4,2 @ 4,2,3,1 4
134 Match List-I with List-Il and choose the correct
answer using the codes given below the lists : 134. @-Iﬁ@-ﬂﬁﬁmmﬁwﬁ\ﬁﬁ%:ﬁ%m
List.1 List-II TG 7 T S g
; e AY4)  (Book) (Writer) Sl TE(-11
g'fﬁﬁj A. HinduPo]ity 1. D.D.Kosambi é% : 1 %(i{_z?)
B. The am A. 3 i._t'f? . 2. s
ﬁ Indl.aWondc:r That Was 2. A.L.Bash AR o 3 v wEm
C. Anlntroduction to the ~ 3. K.P. Jayaswal C. Q’-rsa@asm;aw 3. Hdl T
an‘ﬁ‘m "D Study of Indian History mm@ , i~
* TheEarly History of ~ 4. Vincent Arthur D. ol et oiiwmsfenr 4. fodie amelt Rmyr
India Smith
Codes e 2
) A B C D
i @ 3A B Cc » @ 3 2 4 1 %%%
& , 2 4 1 ® 1 2 4 3
© 3 > 4 3 © 3 2 1 4
ey )14 @ .22t
____________ 2 3 4 memememeeseseteeasassssesas.
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135. Given below 2
Assertion (A) an
Assertion (A)' ':
considered British
destined to bring Mo
Reason (R) :.Thcy. co
«Un-British rule” in India.

Select the correct anﬂycr wii
(@ Both (A) and; (R) are true,
correct explanation of (A)-

(b) (A)is false, but ®) is true.
‘}V Both (A) and (R) are truc an

explanation of (A')

d)pA(A) is true, but (R) is false.
7

136. Which one of ‘the following statements 18
about William A.J. Archbold ?
(a) He was the Principal 0
! Dacca.

(®)

re tWO s!mcmcnts,

d the other a8

rule as an 2

dernisation.
mplaincd

d (R) is the correc

Lahore.
(c) He was the Pdng;pal of MAO College, Aligarh.

(d)
College, Allahabad.

1
_ "
137. Consider the following events and arrange them in
chronological order starting from the earliest :

1. Vellore Mutinyr "
2. . Death of Nana Fadnavis
3. Recall of Wellesley
4. Anglo-Nepalese War
; { Select the correct answer from the codes given below :
; @ 23,14 () 4139 .
© 2341 G)] 3: 1: 24

138. M. i i i V
an:;cfr L1§t-I with List-Il and chooge the
using the cers_ given below the lists : comedt

List-I o
{J%  List-II
;sz]::lt) [Y) (Leader)
. -
i -”Revolt . .1,' Edachena Kyp
o eilly Revolt .2, Radharam =
alaba 3
-~ }; 2,?1,:)" 3 }\dufti Muhammaq Aiwa
+ Jagabandhy ; ’
Mahapatra oy

~~~~~~

not correct
f Government College,

He was the Principal of Lahore College,

He was the Principal of the Muir Central

t

138.

136.

137.

;iua; @ (A) ¢ ! ﬁ%f ConSlde;gicalc
ffeeT et 2 T T Sy o od H
?TF"TQH' 1 N tional
) ®) ,gﬁﬁmaﬁﬁmﬁ“m i V\;lorld A
ferer® : orld R
: ﬁﬂﬁwﬂﬁq: 4 W rcorl’
:ﬁaﬁqﬂqag a:ﬁ’ qﬁf % Select the
@ @ 3 (R) R e 2,3
T T T & )i i 1,3
(b) () e 2, g (R T & % 53,4
© (@) ER) AT EAN R, @ > 2.1,
AT BT & | )t "
h LIS
@ @FEFIR TR s M e
Ry TS daee & T § fee List-T
T T I TE TET ® ? oy (Awar
(@ %mﬁwﬁﬁ,m%mm X Aryat
(b) 3 TR IS, TR eI & Awar
(© AW FO, TG H IR, O ;Xiozr:
@ IR A FO, WEER FIEHY, ¢ Lata
et R AT o 5, Man;
W@wmaﬁm ' Awa
1 e fe D. Gol
2 twnqw_@laﬁ'ﬂﬁga En.vi
3. ERERIE) m\’ g Priz
e T Codes :
4. 'mﬂ?&' R _
R e e g @ 3
8 2 i o ®) 4,1,3,2 S’% 3
4 ’4,1 Cc 4
e (d) 3,1,2,4 & . o
T ST & hfer ifi st gfd o
Waﬁ‘q’ﬂ e & "1, MatCh L
“Wmmmmﬂﬁq ‘ answer us]
-I
(7%3}5' @-II List
/ (g, .
A, TEH g ) - (Vit
1 i A, :
B. Mﬁ?ﬁ% . TEEAEH Vit
C. e fig 2. Tuwm ’é' Vit
D. ﬁ?‘fi&' 8 : 3. WWT{ D. :’lit:
SUGEH ' j it
? . 4., \,ﬁﬂw{ Codes .
4 A
@ 4 ? = B @
® 3 . A7,
(c) 3 p, 1 2 (c) I
-((.1.)_ 2 1 4 -.\‘(51) :
----------- 1 3 4 .’ T

---------------
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jlowing days and arrange them i . .
Congidef’;j:der; n1139. ﬁﬁ%ihﬁﬁaﬁwﬁaﬂmaﬂts%wﬁ
chr0“°1og11(ci Health Day e ifvr
i woifonle Maritime Day L. fova s fam
2. world Athletics D;z i ‘;?:‘“ﬂﬁﬁw

world Red Cross ; d the codes o . Wﬁw
: mgcorrcctans""er rom the codes given below 4. T wia faw
Sqect“, g #ﬁmm?ﬁ-@gﬁm;\{ﬁq:
O )34 @ 4,2,3,1
g 2,34} ®)  2,1,3,4 ZE
QM 1,4 ©  2,3,4,1
p List] with List-II and choose the correct d  3,2,1,4
Matc' J ing the codes given below the lists : re
aﬂs““L‘;;t_I List-T1 140, -1 0 ehtnn & e Hifvre, i gfrdt 36 A f
(_4;‘-ard) (Re(fipient) W?WW@'{{'@IW ST
. Apabhatia 1. Amitabh Bachchan TEft-1 i; -1
7 Award, 2024 &) (TTF)
o WoddLitray 2. Mamta G. Sagar A. TRIVE TR,12024 1. aftramy =
Prize, 2024 | B. e wfer e, 2024 2. wwar st @R
c. LataDeenanath 3. Dr. Subba Rao C. T : ' -
Mangeshkar Pavuluri ' ST qim; T 3. SLgsT A
Award, 2024 JUE=hI, 2024 Wﬂgﬁ
b, Goldmen 4. Alok Shukla D. MTSHT Woleol qeehm, 4. AT T
Environmental : 2024
Prize, 2024 %e :
Codes : A B ™ Cc D
A'B C D =4 @ 3 2P~1 "4
@3 2 1 4 i ® 3 2 ;;”)4 1
@4 2 1 3 d 2 3,41 4
@2 3 1 4 N .
141, TEf-1 0 -1 & i i siv gfied % 99 fe
Match Ligt.| with List-Il and choose the correct W?Wmﬁﬂﬁmgﬁq
answer yg; . . gefl-1 -1
ising the codes given below the lists : 2 Sl
List] List-II m@aﬁq_‘.) o
% (Vitamin) (Disease)- A A . w630
B, :2221:}3 1. Beriberi B. fafmp 2. IR
C. Vi . Blindness C. fafimc 3 fiww
D, VitaminD 3. Rickets D. fffmD 4. Tt
Codes , 4. Scurvy 1KY ™
N L
0y P cop A, BRC D
g, 32 @ 4 3112
(©) 1 l 4 3 b) 2 1 ;‘a‘g 4 3
@, ¥ 3 4~ © 1 273 4
"""""""""" A > @ 1 372" 4

D.STF-1-23

________
_______
--------
------
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144.

145.  With reference to the “Na}fbjlal Intellectual Property

146.

143. The Concurrent list of the

5‘3&%

i teme
1"1-2 Consider the follow1.ng usitsaic
. Special Officer for Llpg e
1. Inthe Constilu(éo;;_;ccr o inguis
- ial
post of Spect
for every State. oo B - sded o .

2. A new Article 3 endment Act:

= ol itution Am ; ct?
oth Constitut nents is/are corre

Which of the ahote Smm(b) Neither 1 n0f 2

(a) Only 2 hl and 2
(@) Pt

c) Onlyl N
( Indian Constitution

includes : -
1.  Trade and Commerce N El .,,

5 Adulteration of Goods *®

3. Succession . foi
Select the correct answer fr?m the codes given be

(a) 1land3 (b)\ 1,2 al;d 3

(c) Onlyl ‘dﬂ 2 and

Fathima Beevi died recenfigfz Consider the following

statements regarding her : -~
1. She was the first woman judge of the Supreme

Court of India.

2. She served as the Governor of Kerala from
1997 -2001. E

3.  She was the first Muslim woman to enter into
higher judiciary.

Select the correct answer from the codes given below :

(@) land2 (b) land3

(c) Only1 (?) 1,2and 3

oo
£

Rights Policy”’ consider theAfollowing statements :

LIt reiterates India’s ~dommij :
Tcommitment to p
Development Agenda andithe TRIPS agreemen(:ha

Policy and Promotion jg

th
€ nodal agency for regulating Intellectya]

Property Rights in India,
Which of the aboye state
(a) Only2
() Only |

ments is/are correct 9
(b) Neither | nor 2
(d) Bo land

Which Amendm
4 ent Act, J
Instity tions in India ) § d}fal with Local Goveman
ce

(a) 63rd and 64th Am
(b) 86 anq g7th Amen i}
(C) 4nd and 43rd

145,

146,

_____
......
_____
-~
S~
~—a

~——
~——

143l

144.

el & e fm g,

142. el 2 st o e e %&-
ﬁ%ﬁ,u@?m%ﬁm atch
1 ﬁqqﬁ-ﬁ-q’ M%Wﬂwﬁ ansWE!

" g ST S g U
2. fmm—j@zssomﬁ@nm L 7

3 E-ET/A F T R s L
Z:;é?ﬁ%aaz (b) Q?ﬁlqaz G
e i A A G Ay o K
| e AT .
, ! A e S
' It de
S e i 8w TR £
(@ 133 (®) 1,23ty @)

Wﬁggﬁﬁﬁﬁm@,ﬁ ©
ﬁnﬁ{f@ammﬁm{‘ﬁﬁq (d)
1. o W % Helioel AT Y el gy 3. Cons

off |
2. IM 1997 — 2001 Gk T TS F T
- Hard i & |

afger off |

aﬁ%ﬁqwagﬁ%a%%wgﬁq

() 13R2 () 13w3 o
(© w1 @ 1,233
TS e wEr s A 3

L. % e o whieey aikc T
ﬁwﬁa@mﬁm%lﬁq
2 qﬁmﬁﬁr SR gy fp, m;
A % R aw § 0.
SR |

TR g |
@ Fero ®) St
© e @ | s

F-a . ¢
meﬁmwﬁmw
(a)

o S saat weie o
: B63T 3 8723 wiiey syt

(©) 4za?aﬁr43awsﬁaqaqf{;ﬁzm
T ey

~.aa
-
‘‘‘‘‘
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147.

=4

FZ

3
%TQ' 148.

—
o;ﬁ)

149.

""""""

+ Given below are two statements, one is labelled as

ist-1 with List-Il and choose

Matc;r sing the codes given below e listtse. €Orrect
ansW i’ List-I1 '
List-
o) (Book)
. 1. A Compreheng; ’
flan! . S1ve Higt,
A Gopl India : The Delhj 55,7 °F
" 2. The Economic | ; (
t and Mic Life
b g?zmi Northem Indi "
¢s.Lal 3. Early Chauhan Dynastieg

' Dashﬂm‘ha 4. History of the Khaljis
D

© gharmd BuE

Iy

Codes o

A
@ 2
o !
© *

VWA A

B D
1 3
2 4
3 1

@3 4 1 2

Consider the following statements :

|, Kunwar Singh, Landlord of Jagdishpur in
Bihar, led the rebellion against the British,

5 Lord Dalhousie recognised the adopted son of

B Rani Lakshmi Bai as the heir apparent.

Which of the above statements is/are correct ?

(2) Only2 (b) Neither 1 nor2

() Onlyl (d) Both1land2

Consider the following foreign travellers and arrange

them in ascending chronological order :

1. LTsing

2. Al-Biruni

3. Huentsang (Hiuen Tsang)

4. Fahyan (Fa-Hien)

Select the correct answer from the codes given below :

@ 1,2,3,4 b) 4,3,1,2

© 2,1,4,3 d 3,4,2,1

Assertion (A) and the other as Reason (R).
Assertion (A) : Balban made his government firm
ad centralised all authority in his hands.
Reasf’“ (R) : He wanted to protect the north-west
Foner againg Mongol invasions. _
“lctthe correct answer from the codes given beloY :
(@ Boty (A) and (R) are true and (R) is the correct
o) EXplanation of (A).

o (A)is false, but (R) is true.

148.

) h
Both (A) ang (R) are true, but (R) 19 o
" “OrTect explanation of (A)- *
TlRe bt R)is false, oo o

147
IS 5N .
™ Ty

149.

150.

D.STF-1-23
Ao Hifvre st ghe
o gt & = R
-1

(q&=)

A hiirefre Ry afe fe -
2 et aeaq e
3 TS T 311 ot
HED)

37l <em st

D Tam 4 it st e

2. O meRt ¥ TR wed A oo o
SARIBR B Y 7=t e 6 |

ST A R o w3

(@) A2, (b) IA1TE2

© F1 @) 1323

Frafofaa et aifEt w fem Hifvg qon 3% i@

ngﬂnmf@asﬁﬁm:

[a—

-l
e L

R L1
(@ 1,2,3,4 () 4,3,1,2
() 2,1,4,3 @ 3,421

qﬁ%érm;j?qm%,ﬁﬁﬁ@ﬁa&m(mm
ZE N O (R) FE L |
aRTwY (A) : O Y STAY ST h g ST 3
FraT Ry 3T el i s o e .
:gr (R)': T8 A Hw T WS SATHATT |
GRS s
:ﬁ%ﬁqwgﬁﬁﬂiﬁw :
(@ (&) @ ®) I T E 3T (R), (A) T &S
ST T & | @
A) e 8, g (R) \
?3 ((A)) o (R) A W E, TR (R), (A) T E
=TT TE FAT R |
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